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136313400
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1. T3633A03Y U3A0YC 3NE3YaiU 2,549,255.8 2,405,023.8 144,232.0
- 2RE=3T1A0Y»AC SRESTST3A0»A 4111 1,299,298.0 1,299,298.0 -
N3 T»E3 Tx3AY»A
- &3-S URAUY»A, TABUST3Y EA3E4ieaUY»A 4112 116,936.8 116,936.8 -
N=1aiT Tx3AY»f
- WY»A-»WCT 1263[a0AIa0YY»f 4212 58,621.5 58,621.5 -
- Tal&sY3t 1=363{a0AlasyY»h 4213 5,773.9 5,773.9 -
- T2AC 1363{a0AlasYY»h 4214 70,633.6 70,633.6 -
- 233Mar=-A3T3Y [2E6»h 4215 3,185.0 3,185.0 -
- &0I0C T 63AU=TARAIUY»AC TSR0ST3ta0Ala0Y 4216 95,760.0 95,760.0 -
- 2iw=2e3(03Y(3Y - 4AT1ai040UY»AC - TaT TSEé»f 4222 50,000.0 50,000.0 -
- 1 3AEST3Y 13¢3[a0Ala0Y Y»h 4231 1,275.0 1,275.0 -
- D3U3T3A-53(CY 1363(4a0Ala5YY»h 4232 29,592.0 29,592.0 -
- 2RE3TST3R0C UBEY2-Co3T3Y %3 - 36U3Y 4233 5,605.0 5,605.0 -
1=3¢3{a0AlasY Y»h
- DO TSTTST3Y 136340Ala0YY»h 4234 27,989.9 27,989.9 -
- T2E3T3E213Y 1363(a0Ala0YY»h 4235 10,000.0 10,000.0 -
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-D3WAT YA 213(CY 3/ VidsA»h 4269 2,700.0 2,700.0 -
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YArewpbl pnnnplbp GapYuywiglthu
E3NUBY I3 ix30400Y»0
- A3AT31CA Tx3AY»f 4823 25,000.0 25,000.0 -
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- A3AT31CA Tx3AY»f 4823 50,000.0 50,000.0 -

2200(02|0 | 0 a=ptaz0asAlasy 25,000.0 25,000.0 -
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- 2[f AYA=6CT 1A=U3/YAANY»f 4639 25,000.0 25,000.0 -
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2420104 | 2 | O | MasO3 Y w»EaAlasy, 3Ya363icy 300,000.0 - 300,000.0
TYU»éaiAlacy, OTvaneaoAlasy -
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2424104 | 2 | 4 |&éa-ail 300,000.0 - 300,000.0
3 A1a0"
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4. P»Y3E3U»AC i»A3YaAa - ail 170,000.0 - 170,000.0
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- P»YU»AC ~ T2é40l6Y»AC AYAS6CT Yana- &i0 4251 10,000.0 10,000.0 -
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- P»YU»AC * RCYADAIAGYY»AC T3é40040U 5112 572,000.0 - 572,000.0
6. T30hc3IcY 136400 I2IuY»AC 103,000.0 90,000.0 13,000.0
I»A3T3Y- Y460 ~ §3NE3Y4iU
- 2 I3Eé»h 4861 90,000.0 90,000.0 -
- b»YU»AC * RCYADAIAGYY»AC TSACTSE T»A3YaR4-4iU | 5113 13,000.0 - 13,000.0
8. D3A460CY»AC ~~ ~4046Y»AC 1,821,205.0 - 1,821,205.0
I»A313640640U "~ NQUY3YAA4 - 46U
- P»YU»AC * RCYADAIAGYY»FAC T3é40040U 5112 321,205.0 - 321,205.0
- b»YU»AC * RCYADAIAGYY»AC TSACTSE T»A3YaRa-4iU | 5113 1,500,000.0 - 1,500,000.0
9. 64046Y»AC 83NEZYE0U » T B3N3- 4R 1460 74,030.0 60,000.0 14,030.0
- P»YU»fiC " T284016Y»AC AYA=6CT Yaria- aiU 4251 20,000.0 20,000.0 -
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- 2[f AYA=6CT 1A=U=3/YAANY»f 4639 40,000.0 40,000.0 -
- b»YO»AC " RCYADAIAGYY»AC TSACTSE T»A3YaRa-4iU | 5113 14,030.0 - 14,030.0
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- P»YU»AC * RCYADAIAGYY»AC T3é40040U 5112 4,225,000.0 - 4,225,000.0
- USE=- 1213 r3T3Y [SEex»i 5134 45,000.0 - 45,000.0
13. 64046 Y»AC, NA3E3A3IY»AC ~ 3[-CY»AC 300,000.0 - 300,000.0
I=3N374naoy
- 2t U»U»Y3Y»i 3RS TaiailY»A 5129 300,000.0 - 300,000.0
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2491|104 | 9 | 1 |SGnbuwywb hwpwptpnintGbtn (wy nwubnhl (12,406,940.0) 954,060.0 (13,361,000.0)
4A3T1=2Y40)
31 ATa0
1. _ A4RY»AC w»031A400 84,000.0 64,000.0 20,000.0
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 64,000.0 64,000.0 -
- UldoA»f ~ A== -3Y»f 5221 20,000.0 - 20,000.0
2. 2¢31640Al46Y N3U3Yo3icy 22,920.0 22,920.0 -
3303 1>A840A180Y Y»ACY
N&GOZAT3 T4A40AIA6YY»AC N» 1" IS&T31
3Yix3A [363J40Ala6YY»AC U3 T E66U3Y ~
»i»BUBY3TY»AC A3SNE3YU3Y N3U3A
- AYA=6CT 1A=U3RYAANY»A S» W 3T3Y 4637 22,920.0 22,920.0 -
N=2USVaY»AC 4d 3é wA=(CY
T34 T»AA4&0AIA0YY»ACY
3. T36373A0U3Y ~ 1»O 131313y 100,000.0 100,000.0 -
TI»EYEta-C3Y»AC %3 - 36460
- Untpuhnhwtn ng howluwywlb wyhnwywo 4511 100,000.0 100,000.0 -
(N=3U3YU=ICY) T3%UST»AAA0AIAY Y»ACY
4. 2¢31640Al46Y N3U3Yo3igcY 44 202,000.0 202,000.0 -
N3U3BIYa3IcY 13303 T»A880AI80YY»AC
IA3- A»AC y
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 150,000.0 150,000.0 -
- UTCA=T TasAlasyY»i 3l s=fasld al>r=av1ad 4819 52,000.0 52,000.0 -
T3UUST»AA40AIA0YY»ACY
5. &4 yCY3YVEST3Y SIaCiY»AC G 3A400C6 (13,381,000.0) - (13,381,000.0)
DELE il
20p=25A Taotlek £520A0DL0 BATEOd 8111 (1,800,000.0) - (1,800,000.0)
PaOK £520a00/£0 BAITEOD 8411 (11,581,000.0) - (11,581,000.0)
6. TAY313Y 0"3iansil 150,000.0 150,000.0 -
- UTCA=T TasAlasyY»i 3l s=fasld al>r=av1ad 4819 150,000.0 150,000.0 -
T3UUST»AA4&0AIAYY»ACY
7. D3E6»3TaAU3Y SREST3Y0Y»A 179,640.0 179,640.0 -
- Canhwlnip pGnyph w)p SwrwjnunLtGbEn 4239 179,640.0 179,640.0 -
8. §»0»6CT @A~"3Y} IA3-AC CA3I3Y3646U 70,000.0 70,000.0 -
- T3ACT =3 1A30U=3/YaANY»A UCe3Y- 3(CY 4622 70,000.0 70,000.0 -
T34 T»A&40AIA0Y Y»ACY
9. A3AW3ICA Ix3AY»AC - 3YOU3Y 27,000.0 27,000.0 -
I363J46A146YY»hA
- DO TSTTST3Y 136340Ala0YY»h 4234 27,000.0 27,000.0 -
10. U»A1AZ603ICY I3 - A»AC CAZT3Y3646U 138,500.0 138,500.0 -
- DO TSTTST3Y 136340Ala0YY»h 4234 18,500.0 18,500.0 -
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- AYA=6CT 1A=U3RYAANY»A S» W 3T3Y 4638 40,000.0 40,000.0 -
N=20=Vo=CY =3¢ wASICY T3S T»AA40AIA6YY»ACY
4. ECU3U31-»AC éa»01460 ~ [SO1383140U 327,400.0 257,400.0 70,000.0
-D3WAT YA 213(CY =3 VidsA»h 4269 122,400.0 122,400.0 -
- UTCA= TaoAlaoYY»ii 3l s=Nadld al»r=ay140 4819 135,000.0 135,000.0 -
T3UUST»AA4&0AIA0YY»ACY
- b»YU»AC * RCYADAIAGYY»AC TSACTSE T»A3YaRa-4iU | 5113 70,000.0 - 70,000.0
5. A3-+3640 I»Y13YCY»AC IY363Y»Alaol 220,000.0 220,000.0 -
- 2t I=Eé»i 4861 220,000.0 220,000.0 -

2600/06| 0 | O “U2126202U£U PEU25282a0A0a0U ©1 5,796,916.9 3,767,047.9 2,029,869.0

TagasU=2t 12e20a0A0a000°8

3 A1a0"

261006 | 1 | O | “YSISAIY3CY BCY3ASAA0AIAY 1,446,869.0 5,000.0 1,441,869.0
&RCo

2611|106 | 1 | 1 |7 YST3A3Y3ICY RCYSA=hanAlasy 1,446,869.0 5,000.0 1,441,869.0
3 A1a0"
1. £YQY313U 1364006 Y»AC 03V 1460 5,000.0 5,000.0 -
- 2[f AYA=6CT 1A=U=3/YAANY»f 4639 5,000.0 5,000.0 -
2. 44AA4A1 3ETCx3YC TAZA3ICY B» YurAC 1,441,869.0 - 1,441,869.0
U3Y1U3Y N» 1~ 3Yodi
plwlywnwnpwidnipin GGlphg gpydwé
plawyhsG6ph thnfuhuwwnnigdwl hwdwpn
plLwlwpwlGbph dGrpplinnid
- GLlpbnh L 2hbnipynibbtnh dGrppEnnLd 5111 1,441,869.0 - 1,441,869.0

2630|06 | 3 | 0 |@A3U3T313A3[a0U 1,556,547.9 1,556,547.9 -
&RCo
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Snnh
[
Pudhi
hunuip

u

"

“lade» W =UCY TSEE»AC - aRT363T3Y 1363T3R.-U3Y
pwdhbltnh, fudptph L nwutph, hbswtu Gub
pintobitnuihb wfuubph inbwnbuwghunwywl

1353137 U3Y NALT3TV»AC SYT3YAUY»AA

FAnnywdh
MM

AY13U»YA

=t ATai0

Jwpswywl pjniok

$nlnwyhl pynigki

[y

N

w

5

7

8

2631

06

2303 T3T3/=3/40U

1,556,547.9

1,556,547.9

=t ATai0

1. UA3YEC3IC D3YA3E» TE40AI3Y
Yupwiwipn pjuwl wowlgni pjudp
CA3TI3Y36i40 @A "3YC
cABUBT3IBA3BAU3Y ~ cA3N»636U3Y
IA3-ACY TA3U31AT40 T1»EYCI313Y
3c3[040A13Y IA3-CA (3T ICA3IT3I

EC3YAaRacAlacY Y»h)

1,556,547.9

1,556,547.9

- 2t [3Eexfi

4861

1,556,547.9

1,556,547.9

2640

06

680406 Y»AC Fa063T4RddU

1,796,000.0

1,696,000.0

100,000.0

anco’

2641

06

6a040Y»AC Fase3Tanacl

1,796,000.0

1,696,000.0

100,000.0

=t ATai0

1. 2AT30CY FA663TaAdsAlI=Y 63Y6¢

Neuy=ydna- aiu

100,000.0

100,000.0

5113

100,000.0

100,000.0

2. 2AT30CY (4663 T4A40AI3Y 63Y6C
B3N3-4AlU3Y ~ §3N43YU3Y
BRE3T3YUY»A

1,696,000.0

1,696,000.0

- 2t [3Eeé»fi

4861

1,696,000.0

1,696,000.0

2650

06

TYSISBABYICY BCYSASAA0AIBY = T4UAGY3E
T36340AIa6YY»AC - IAT N» T3%41313Y
YBEZ.[3gY 3E3T3YaY»iA

8,000.0

8,000.0

anco’

2651

06

“YST3ASY3(CY RCY=A3rasAl>Y - Talasyst
13é3a0AAYY»AC - TAT N> 33 w=T3Y
YSE=-T13(CY SRE3T3YOY»A

8,000.0

8,000.0

=t ATai0

1. b»Yu»AC " BCYE6AIA6YY»AC N» 13331 U3Y
BRE3T3YUY»A

8,000.0

8,000.0

- USE3- I3 T3RT313Y 13Eé»i

5134

8,000.0

8,000.0

2660

06

TYSISASYICY BCYSAZAAAIBY — TAUAY3E
T36340AIa6YY»i (3l 13é»ACY 4831T3Y40)

989,500.0

509,500.0

480,000.0

anco’

2661

06

“YST3ASY3(CY RCY3A3ratAl>Y -~ Talasyst
1=2¢3a0AlasYY»A (3l 13é»ACY 3831 T3Y40)

989,500.0

509,500.0

480,000.0

=t ATai0

3. "3I3icy w3A31aY»ic
E3030A=53A=31Y»iA¢ NeUY=Ydra - 40U 40
&3Na3vyaou

230,000.0

230,000.0

- P»YU»AG * RCYABAIAIY Y»AC TSé45040U

5112

180,000.0

180,000.0

44




“ e 3ICY TSESHTC - anl=363T3Y 1563137 U3y

=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hoswtu Gwb 3 = AVIS(sYA

c = £33 0 swluubph WGk ui = GnWihG

wm = 2| E2 pinLetinwih( dwiuubiph tlinuwghunwywt c= Junswyw pnigl | dnlnwghl pynegt

LT 1363T3R-U3Y NALTSIV»AC 3YT3VaiUV»A £
1 |23 |4 5 6 7 8 9

- b»YO»AC " RCYADAIAGYY»AC TSACTSE I»A3YaRa-4iU | 5113 50,000.0 - 50,000.0
4. Puqldwplwluwpwl 26Gp6ph pupbiuwpqdwl 304,500.0 54,500.0 250,000.0
3F 3RE3T3Y0Y»A
- P»YU»AC ~ T2é40l6Y»AC AYAS6CT Yana- &i0 4251 50,000.0 50,000.0 -
a=3\a=vail
- T3ACT =3t 1A30U=3/YaANY»A UCe3Y- 3(CY 4622 4,500.0 4,500.0 -
T34 T»A&40AIA0YY»ACY
- b»YU»AC  RCYADAIAGYY»AC TSACTSE I»A3YaRa-4iU | 5113 250,000.0 - 250,000.0
5. 2A3(cY 136466 Y»AC B3N=-4AT400 320,000.0 320,000.0 -
83N&3vY4a0U
- 2 I3Eé»h 4861 320,000.0 320,000.0 -
6. T3A63/31Y»AC E3NE&3Y4iU 25,000.0 25,000.0 -
- AYA=6CT 1A=U3RYAANY»A S» W 3T3Y 4638 25,000.0 25,000.0 -
N=20=Vo=UCY =3¢ WASICY T3S T»AA4&0AIA5YY»ACY
7. T3U3A3Y6406UY»AC = 3IF BCYA6AIAGYY»AC 110,000.0 110,000.0 -
I»A3YAAE - 40U ~ - 46Y3%3A1460
- P»YU»AC ~ T2é40l6Y»AC AYAS6CT Yana- ai0 4251 110,000.0 110,000.0 -
a3\a=vail

2700|070 | O 2gadx2a2pastAlasy 115,900.0 - 115,900.0
3 A1a0"

2710|107 | 1 | O | “ABI3I3Y 3&A3YuY»A, 63A0»A 70,000.0 - 70,000.0
E3A0374A400Y»A
£l

2711|107 | 1 | 1 | _»0=-4AT3T3Y S&A3YOY»A 70,000.0 - 70,000.0
3 A1a0"
1. 2640c3&3N3T3Y 13403 1»A840AI46Y Y»AC 70,000.0 - 70,000.0
hwdwp pdoyuluwl uwppwynpnidbbph
dbrppbpnid
- 2t U»U»Y3Y»i ~ 63A0USTaiailY»A 5129 70,000.0 - 70,000.0

2760|07 | 6 | 0 | 2640c383Na6Al46Y (SIF 136»ACY 45,900.0 - 45,900.0
i&3113Ya0)
£l

2761/ 07| 6 | 1 [2640¢=2A3N=T3Y NSAZTC 1=¢3a0AlasYY»A 45,900.0 - 45,900.0
13- fi»f
3 A1a0"
1. Upnnguiwwhwlwl opilunlbph 45,900.0 - 45,900.0
NeUY=3Yana - 460
- b»YU»AC * RCYADAIAGYY»AC TSACTSE T»A3YaR4-4iU | 5113 45,900.0 - 45,900.0

2800/08| 0 | O p=20v£eT, Zp2TaolA @i Taau 1,975,191.3 1,270,899.6 704,291.7

ST

45




= |3l “lade»w=ICY T=Eex»fiC -anl=6=T=Y 1=26=T=1-0=Y | & S ST

C = | x93 o pwdhbltnh, fudptph L nwutph, hbswtu Gub = AV1SIaYA

=2 BIE 3 pIntottnwhG Swiuubinh iGnbuwghiwywl 25 ATERA Junswywa pintet | SnGnwihG pintet

ol =2 1363T3R-U3Y NALTSIV»AC 3YT3VaiUV»A £
1 |23 |4 5 6 7 8 9

2810|108 | 1 | 0 |P3Y-67C "~ 644ATC [S63diAlacyV»ii 434,648.7 127,148.7 307,500.0
afigo

2811/08| 1 | 1 |[D3Y-&WC ARG 1=63(40Al46YY»h 434,648.7 127,148.7 307,500.0
=1 A4
1. 8841 3ICY UCcA63640UY»1C 40,000.0 40,000.0 -
I33U31»Aa4ou
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 40,000.0 40,000.0 -
2. <wlbquunh gnunhlbph L qpnuwyghlbph 340,000.0 40,000.0 300,000.0
136406400 46 E3NA3Y4iU
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 40,000.0 40,000.0 -
- b»YU»fiG * RGYABAIAGYY»AC TSé456450 5112 300,000.0 - 300,000.0
3. P»[BYT3NASE3AZ31¢ B3N= - 4AT460 54,648.7 47,148.7 7,500.0
- Canhwntp pOnyph w)p SwrwjnunLGbEn 4239 47,148.7 47,148.7 -
- TASYe QAR 3ICY 63AUSB TRV »f 5121 7,500.0 - 7,500.0

2820|108 | 2 | O |@B3T46A3cY I=6340AI46YY»hA 1,480,742.6 1,083,950.9 396,791.7
afige

2821|08 | 2 | 1 |TASLI3AZYY»f 168,000.0 118,000.0 50,000.0
=1 A4
1. IABI3[H3Y3oY [363J40AI46YY»hA 118,000.0 118,000.0 -
-NUn}pqhnth({br]_nz jgh(_JEuUqu}yU gquu.gl.{uj[x 4511 118,000.0 118,000.0 -
(R=0=lYu=(CY) T3RUST»A&A0AIEYY»ACY
2. TAS13[A3YY»AC NCUY3Yafid - 46U 50,000.0 - 50,000.0
- b»YO»AC " RCYADAIAGYY»AC TSACTSE T»A3YaR4-4iU | 5113 50,000.0 - 50,000.0

2822|108 | 2 | 2 |A3Y-3A3YY»h ~ 64663eA3NY»A 245,044.8 195,044.8 50,000.0
=1 A4
1. A3Y-3A3Y3|Y [363UdoAlasyy»i 195,044.8 195,044.8 -
-NUn}pqhnth({br]_nz jgh(_JEuUqu}yU gquu.gl.{uj[x 4511 195,044.8 195,044.8 -
(R=0=lYU=iCY) T3RUST»A&A0AIEYY»ACY
2. A3Y-3A3YY»AC YAA4- 40 50,000.0 - 50,000.0
- b»YU»AC " RCYADAIAGYY»AC TSACTSE I»A3YaR4-4iU | 5113 50,000.0 - 50,000.0

282308 | 2 | 3 |Uwynyph wnlbp, wyniiplbtp, Yshuinpnbben 203,398.3 - 203,398.3
=1 A4
2. OB3140IAC TY»AC NCUY3Yana- &0 203,398.3 - 203,398.3
i»i3Yahd - 46U
- b»YO»AC " RCYADAIAGYY»AC TSACTSE T»A3YaRa-4iU | 5113 170,000.0 - 170,000.0
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“ e 3ICY TSESHTC - anl=363T3Y 1563137 U3y

=t ATai0

= 3| oy ﬁ
Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hoswtu Gwb 3 = AVIS(sYA
c = g 3 G Swfuubph LG Y = ” anwihG
wm = 2| E2 pinLetinwih( dwiuubiph tlinuwghunwywt c= Junswyw pnigl | dnlnwghl pynegt
LT 1353137 U3Y NALT3TV»AC SYT3YAUY»AA £
1 (2|34 5 6 7 8
- 2[E U»U»Y3Y»f " 63AUS TaRasUY»A 5129 33,398.3 - 33,398.3
282408 | 2 | 4 |2k URSTAAZICY T3HUIST»AAAAIATYY»A 538,371.4 448,978.0 89,393.4
31 ATa0
1. PB3T40A3ICY UCcad3640UY»AC 253,800.0 253,800.0 -
CAST3Y36400
- 2[f AYA=6CT 1A=U=3RYAANY»f 4639 253,800.0 253,800.0 -
2. YGhnwlwpwlwlwl uygnt 195,178.0 195,178.0 -
040031AZ0AIA0Y Y»A
- Untpupnhw(tn ng phiwbuwyul whnwywl 4511 195,178.0 195,178.0 -
(R3USYU=ICY) TS T»AAAAIAYY»ACY
3. YGhnwlwpwlwlwl wygnt bhdGwanpngntd 89,393.4 - 89,393.4
- b»YU»AC * RCYADAIAGYY»AC TSACTSE T»A3YaR4-4iU | 5113 89,393.4 - 89,393.4
2825/08| 2 | 5 |2AT»EW 306,928.1 306,928.1 -
31 ATa0
1. CABABU3AT»61C =~ E3A3BAI»ETC 68,615.7 68,615.7 -
N3U»A- Y»i
-NUn}pqhnth({br]_nz jgh(_JEuUqu}yU gquu.gl.{uj[x 4511 68,615.7 68,615.7 -
(RSUSYU=ICY) TS T»RAAAIAYY»ACY
2. ASI»A3I3Y YrAl3I36400Y»A 238,312.4 238,312.4 -
-NUn}pqhnth({br]_nz jgh(_JEuUqu}yU gquu.gl.{uj[x 4511 238,312.4 238,312.4 -
(R3USYU=ICY) TS T»AAAAIAYY»ACY
2827/ 08| 2 | 7 |DaiR3A03YY»AC ~ URSTAIAZICY 3AA»UY»AC 19,000.0 15,000.0 4,000.0
»AST3Y - Yail ~ a3(a&3yvail
31 ATa0
1. DAOB3A03YY»AC I»A3Yaha-ail = 19,000.0 15,000.0 4,000.0
a3N83vaoU
- P»YU»AC ~ T=é40l6Y»AC AYAS6CT Yana- ai0 4251 15,000.0 15,000.0 -
a=N&=vail
- P»YU»AC * RCYADAIAGYY»FAC T3é40040U 5112 4,000.0 - 4,000.0
2830|108 | 3 | 0 |@3104 ~ N»édie w3N304A1450Y»AC 36,000.0 36,000.0 -
N»é3[02TU3Y ~ NA31T3A314313Y
T36340AIa6Y Y»ii
&RCo
2831| 08 | 3 | 1 |D»éaier=631CaN=304an14a50Y»A 36,000.0 36,000.0 -
31 ATa0
1. p303038» 1T 3A3YC 3RE3T3Y0Y»C 36,000.0 36,000.0 -
[nLuwipwiln g
- @2V CU3T3Y 1363(40Ala5YY»h 4241 36,000.0 36,000.0 -
2840|108 | 4 | 0 | TAZY=3T3Y " N3E3A31313Y 3 23,800.0 23,800.0 -
[ 263/40A40YY»A
&RCo
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“ e 3ICY TSESHTC - anl=363T3Y 1563137 U3y

=t ATai0

ey
= 2 A =) pwdhbltnh, fudptph L nwutph, hbswtu Gub E AV1SIaYA
G253 23 mmgtnwhosuutnnontiwghowyws | EE AT T yunuituo prigt | ponuing et
LT 1363T3R-U3Y NALTSIV»AC 3YT3VaiUV»A £
1 |23 |4 5 6 7 8 9

2843|08 | 4 | 3 |TRAY=T=Y ~ (=2e3A3T3T3Y 3 136340Ala6YY»fi 23,800.0 23,800.0 -
=1 A4
1. 2Y13(3T646AI3Y Tx3AY»h 23,800.0 23,800.0 -
- UTCA3T Ta0Ala0YY»fi 3[ B340l all» 1347140 4819 23,800.0 23,800.0 -
I3%LU=T»NAA0AIA0Y Y»ACY

2900(09|0 | O TaAaAUasU 13,559,228.3 12,459,228.3 1,100,000.0
=1 A4

2910/09 | 1 | 0 |USE314A46313Y = w3AA=13Y AYIN3Yéon 6,194,669.7 5,694,669.7 500,000.0
1AA4dAiaey
afigo

2911|109 | 1 | 1 |U=E314A46=T3Y TAA&sAlasY 604,352.0 104,352.0 500,000.0
=1 A4
1. USE3158A46313Y 406466400 104,352.0 104,352.0 -
-NUn}pqhnth({br]_nz jgh(_JEuUqu}yU gquu.gl.{uj[x 4511 104,352.0 104,352.0 -
(R=20=lYu=iCY) T3RUST»A&A0AIEYY»ACY
2. UBE318A46313Y 406460U3Y 500,000.0 - 500,000.0
3303 I>A803Y N3U3A 3YNA3A»B - 4600
dbrp pGpnid
- 2f U»U»Y3Y»f " 83A03 TaRa0UY»A 5129 500,000.0 - 500,000.0

2912|109 | 1 | 2 |T3AAST3Y AVIN=3YaenA TAA&0AIASY 5,590,317.7 5,590,317.7 -
=1 A4
1. D3YABTIAABI3Y 466466400 5,115,808.0 5,115,808.0 -
- Canhwnip pGnyph w)p SwrwjnunLGbtn 4239 5,115,808.0 5,115,808.0 -
2. D37 461 1AaoAlasy 117,030.0 117,030.0 -
- Canhwntp pOnyph w)p SwrwjnunLGbEn 4239 117,030.0 117,030.0 -
3. U»A=36313Y IAAdoAlasy 357,479.7 357,479.7 -
- Canhwntp pOnyph w)p SwrwjnunLGbEn 4239 357,479.7 357,479.7 -

2920|109 | 2 | O |@CcY3I=3A- AYIN3Ya0A TAAA0AIAGY 6,340,655.9 6,340,655.9 -
afige

2921|109 | 2 | 1 |BCUYST3Y AY1N=YasA TrRA&IAIAGY 6,040,342.0 6,040,342.0 -
=1 A4
1. D3YASIAAZT3Y diédi6a00 5,589,335.1 5,589,335.1 -
- Canhwlntp pGnyph w)p SwrwjnunLtGbEn 4239 5,589,335.1 5,589,335.1 -
2. D37 461 1AaoAlasy 163,634.8 163,634.8 -
- Canhwnip pGnyph w)p SwrwjnunLGbtn 4239 163,634.8 163,634.8 -
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“ e 3ICY TSESHTC - anl=363T3Y 1563137 U3y

=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hoswtu Gwb 3 = AVIS(sYA

c = g 3 G Swhuubph wGnGuwghinwywa = ” G anwihG

w2 2| E 2 pnLbnwh( dwiuubnh wlnbuwghunwywt c= Junswyw pnigl | dnlnwghl pynegt

ol =2 133130 U3Y NALTSTY»AC SYT3VaUY»AA £
1 213 |4 5 6 7 8 9

3. U»A=36313Y IAAdoAlasy 278,263.6 278,263.6 -
- Canhwlnip pOnyph wyp SwrwjnunLGbEn 4239 278,263.6 278,263.6 -
4. Ci»14/3Y 1AA&6AIa5Y 9,108.5 9,108.5 -
- Canhwlnip pOnyph wyp SwrwjnunLGbEn 4239 9,108.5 9,108.5 -

2922|109 | 2 | 2 |@CcY=T=3fi- (EACT) AYIN=3Yadn ThAasAlAsY 300,313.9 300,313.9 -
31 ATa0
1. D3YASIAAZI3Y 406406400 246,678.4 246,678.4 -
- Canhwntp pOnyph w)p SwrwjnunLGbEn 4239 246,678.4 246,678.4 -
2. D346l 1AA40AldsY 35,212.6 35,212.6 -
- Canhwntp pOnyph w)p SwrwjnunLGbEn 4239 35,212.6 35,212.6 -
3. U»A=6=313Y 1iAdsAlasy 671.3 671.3 -
- Canhwntp pOnyph w)p SwrwjnunLGbEn 4239 671.3 671.3 -
4. Ci»14/3Y 1AA&64Ia5Y 17,751.6 17,751.6 -
- Canhwntp pOnyph w)p SwrwjnunLGbEn 4239 17,751.6 17,751.6 -

2950( 09 | 5 | 0 |Aé7 USTI3A131Y»AC 41363131 740 464,202.7 414,202.7 50,000.0
TrdaoAlasy
anco’

295109 | 5 | 1 |2AT31A/463T3Y 136w C3A3TasAlasY 464,202.7 414,202.7 50,000.0
31 ATa0
1. 2AT318A46313Y 136 7 C3A3140AI46Y 330,415.7 330,415.7 -
- Canhwnip pGnyph w)p SwrwjnunLGbtn 4239 41,766.5 41,766.5 -
- Untpuhnhwtn ng howluwywb wytnwywo 4511 288,649.2 288,649.2 -
(N=3U3YU=ICY) T3%UST»AAA0AIAY Y »ACY
2. 2Ar318746313Y 50,000.0 - 50,000.0
13303 I»A&40A1a6Y Y»AC NCUY3Yaia - 46U =
I»A3Y4ana- 60
- b»YO»AC " RCYADAIAGYY»AC TSACTSE T»A3YaR4-4iU | 5113 50,000.0 - 50,000.0
3. «<wynp YngmwlGy Yppwhwdwihp MNUY- 6,508.1 6,508.1 -
40U BAT318A46=1=Y 136 T C3AZ140AI3Y
I=3U=31»A8400 (A3 1 iCAZ31T31
EC3YBAAAGAIAGY Y1)
- Canhwlnip pGnyph w)p SwrwjnunLtGbEn 4239 6,508.1 6,508.1 -
4. CASABTSI3Y ~ SAi»E ¢ 18AA6Y»iail 77,278.9 77,278.9 -
3y- 3cY £3A3BICY " =403UcY Vi3 - SA3YY»ic
- Ta7 466466460
- Canhwnip pGnyph w)p SwrwjnunLGbtn 4239 77,278.9 77,278.9 -

2960|109 | 6 | 0 | TAA40AIZYA TASU32AT40 0A=3Y13T 559,700.0 9,700.0 550,000.0
T363/a0AlacyyY»a
anco’
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I'3%U31»A880AI46YY»AC SBE3140Y»AC
640031y +=3ArAdi SA3NATA0U
(B3TTCAZTT31 EC3%AAA0AIA0Y Y1)

= ol “laie»>WSCY TSES»AC - afl=63T3Y 136313703y | 3 ATas0
= = 59 = pwdhGOtnh, fudptinh L nwutiph, hoswtu Gwb _ﬂ = AVISU»YA
w2 3| 2 pntobitnuyn dwiuubiph inGinbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt
o =2 1353137 U3Y NALT3TV»AC SYT3YAUY»AA £
1 (2|3 5 6 7 8 9

TAA&AIRYA TA3031AT40 0A3Y13T 1363{40Ala5YY»h 559,700.0 9,700.0 550,000.0

3 A1a0"

1. UBE318746313Y N36 131 46AI46Y Y»AC 550,000.0 - 550,000.0

NCUY3Yafa4 - 460 ~ i»A3YAana - 460

- b»YU»AC * RCYADAIAGYY»AC TSACTSE I»A3YaRa-4iU | 5113 550,000.0 - 550,000.0

2. 8A46313YY»AC QECUAC313Y»AC ™ 3 9,700.0 9,700.0 -

UCcd63646UY»AC 1335U31»A846U

- 2[f AYA=6CT 1A=U=3/YAANY»f 4639 9,700.0 9,700.0 -
€a0k=2t2T20 a42pT14a=20a0Ala0U 1,318,184.0 1,318,184.0 -

3 A1a0°

B46C3E3T3Y N3U1adl 3ATEYA0AIAYY»A (3IF 155,000.0 155,000.0 -

13»ACY 4831 T3Y40)

&RCo

G46C3t3T3Y N3 Al SATAYAsAIAsYY»A (3lF 155,000.0 155,000.0 -

138»ACY 383 T3Y40)

3 A1a0"

3. B40C338»6 3Y3E3NAT AYT3YCUY»AcY 27,000.0 27,000.0 -

VAYSI3Y T NCB3U I Of»ACY S¢31640Al46Y

- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 12,256.0 12,256.0 -

- Uj| Gwywuwnlbp pjntobihg 4729 14,744.0 14,744.0 -

4. 46C3H38»6 3YSE3NAT 3Y03Y6 116,000.0 116,000.0 -

c316404146Y

- W Guwuwnbbp pinuobihg 4729 16,000.0 16,000.0 -

- UTCA=w Ta0AlaoYY»i =i R=RadlA al»w=&v140 4819 100,000.0 100,000.0 -

T3UUST»AA4&0AIA0YY»ACY

5. P3E3A3I3I3Y I3BU3I»ABE0AI86YY»ACY 12,000.0 12,000.0 -

Sc31640AI46Y

- UTCA= TaoAlaoYY»ii 3l s=Nadld al»r=&y140 4819 12,000.0 12,000.0 -

T3UUST»AA40AIA0YY»ACY

B46C3E3T3Y &3BTE3Ya0Al40Y (3IF 1,163,184.0 1,163,184.0 -

13»ACY 48371 T3Y40)

&RCo

€40C33T3Y 43R A3VAAIBYA WA=U31AT40 1,163,184.0 1,163,184.0 -

0A3Y13T 1=363(40Al40YY»h (S 13eé»ACY

A3TT=3Y40)

3 A1a0"

1. @»7313Y NCUY3ATY»AC 1,163,184.0 1,163,184.0 -
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3100(11|0 | O PAEGU=2T=2U ~2A£0U°8EU a_281a0 3,488,732.5 3,473,732.5 15,000.0

a2paséT=20L0U uau _°s

3 A1a0"

311011 | 1 | O |PP IBE373[46AI3Y = N3U3IYaY»AC 3,488,732.5 3,473,732.5 15,000.0
&3N4613IgY yavt
£l

3112|11| 1 | 2 |PP R=3U=YaY»A¢ &=Nasen=ICY yavr 3,488,732.5 3,473,732.5 15,000.0
3 A1a0"
- a=Natew3(CY UCcaoY»h 4891 3,488,732.5 3,473,732.5 15,000.0
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2100|010 | 0 AU _p=20as6 ~UasUALE p20s20£0 393,879.9 386,379.9 7,500.0
T12&20asAlas0u°s

31 ATa0

2110|101 | 1 | O |dA»Yé1CA = -8AT31CA UBAUCYY»A, 381,624.8 376,124.8 5,500.0
A»T313Y I36373A40U, yCY3Ve313Y
hwpyuwpmpbuwnuyghl hwpwpbpnipniGGGp,
wnunwphl hwpwpbpnipiniGGGR
&RCo

211101 | 1 | 1 |Gfi»Y&1CA ™~ -afT=31Ci USAUCYY»ii, a»r3T3Y 381,624.8 376,124.8 5,500.0
136313400
31 ATa0
1. T3633A03Y U3A0YC 3NE3YaiU 381,624.8 376,124.8 5,500.0
- 2RE=3T1A0Y»AC SRESTST3A0»A 4111 292,565.0 292,565.0 -
N3 T»E3 Tx3AY»A
- a3 "3 whalY»f, 1A303T3Y EASE4ieaiUY»h 4112 37,381.6 37,381.6 -
N=1aiT Tx3AY»f
- WY»A-»WCT 1263[a0AIa0YY»f 4212 5,500.0 5,500.0 -
- Tal&sY3t 1=363{a0AlasyY»h 4213 200.0 200.0 -
- T2AC 1363{a0AlasYY»h 4214 8,216.0 8,216.0 -
- 283473 -A3T3Y I3Eé»A 4215 300.0 300.0 -
- 2iw=2e3(03Y(3Y - 4AT1ai040UY»AC - TaT TSEé»f 4222 1,000.0 1,000.0 -
- 1 3AEST3Y 13¢3[a0Ala0Y Y»h 4231 300.0 300.0 -
- DO TSTTST3Y 136340Ala0YY»h 4234 955.0 955.0 -
- U»AT=3[=6400a3T3Y 13Eé»i 4237 3,000.0 3,000.0 -
- Canhwlntp pOnyph w)p SwrwjnunLtGbtEn 4239 960.0 960.0 -
- @26V CU3T3Y 1363(40AIa5YY»h 4241 600.0 600.0 -
- DHU»YRY»AC 630 TafaiUY»A¢ AYA=46CT 4252 5,000.0 5,000.0 -
Yafia- 4ol ~ a=N&=Yail
- TASE»YI=T3ICY YidsA»A ~ N=- 456w 4261 4,200.0 4,200.0 -
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- T»Y6303(CY ~~ NSYASICY eYY1C YiadAxfi 4267 1,000.0 1,000.0 -
- A3AT31CA Tx3AY»h 4823 80.0 80.0 -
- 2[f I=Eé»h 4861 1,000.0 1,000.0 -
- 13AE2T3Y 63A0=T4Ra0UY»A 5122 5,500.0 - 5,500.0

2130|01| 3 | O |LanhwGmp plGnyph SwruynipinlGaEGn 5,255.1 5,255.1 -
&RCo

2131101 | 3 | 1 |Upluwwinwywqah /Yunntph/ gony pnhwnip panyeh 5,255.1 5,255.1 -
13¢63(40Ala0Y Y
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1. 303036C313Y 13640A13Y STU»AC 5,255.1 5,255.1 -
-ASYOU3Y 36340413 - 4AI40Y»a0AI3Y
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- 2RE=3T1A0Y»AC SRESTST3A0»A 4111 4,049.8 4,049.8 -
N3 T»E3 Tx3AY»A
- WY»A-»WCT 1263[a0AIa0YY»f 4212 300.0 300.0 -
- T2AC 1363{a0AlasYY»h 4214 196.2 196.2 -
- @HU»YRY»AC  63A0= TafaiUY»A¢ AYA=46CT 4252 200.0 200.0 -
Yafia- 4ol ~ a=N&=Yail
- TASE»YI=T3ICY YidsA»A ~ N=- 406w 4261 400.0 400.0 -
- T»Y6303(CY ~~ NSYASICY eYY1C YiadAxf 4267 100.0 100.0 -
- A3AT31CA Tx3AY»f 4823 9.1 9.1 -

2150|01 | 5 | O |L4anhwGnip pGnyph hwGpughG 2,000.0 - 2,000.0
T36340AIa6YY»AC - IAT N» T3%41313Y
YBEZ. [3gY 3BE3T3YaY»iA
&RCo

2151101 | 5 | 1 |COnhwGnip pOnyeh hwOpwhG wewjnuentbbtinh 2,000.0 - 2,000.0
-TaT I rSwa 313y -~ Y3E3. [3(¢Y
SRE3T3Y0Y»i
31 ATa0
1. USBE3-[3cY SRE3T3Y0Y»h 2,000.0 - 2,000.0
- USE=- 1213 r3T3Y [SEex»i 5134 2,000.0 - 2,000.0

2160|01| 6 | O |L4anhwGnip pGniyph hwlpughG X 5,000.0 5,000.0 -
T36340AIa6Y Y»ii (3IF 136»ACY 4831 13Ya0)
&RCo

2161|01| 6 | 1 |COnhwOntp pUnyph hwapwihb SwrewjniNLGbtn (wy| 5,000.0 5,000.0 -
12E»fCY 4831 T3Y40)
31 ATa0
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4AdBaGUY»AC ~ TxCEY»AC I»U i»A3uYYCE
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E3NUBY 31 ix30a00Y»0
- A3AT31CA Tx3AY»f 4823 2,000.0 2,000.0 -
2. Qnuyph Ghundwdp hpwyniGplGEnph 3,000.0 3,000.0 -
-ASYEU3Y, -YIN3TU3Y
T0» 13T T40AI3Y TA3U31A03Y N» T
I3&731 ix3A460Y»A
- @36Y=3-Cw3T3Y 13¢3[40Ala0YY»h 4241 1,000.0 1,000.0 -
- A3AT31CA Tx3AY»f 4823 2,000.0 2,000.0 -

2200/02|0 | 0 a=2pt1a=20a0Alacu 2,000.0 2,000.0 -
31 ATa0

2250|102 | 5 | 0 |&3BWE3Ya0Al46Y (3IF 136»ACY 4831 1T3Ya0) 2,000.0 2,000.0 -
&RCo

2251|102 | 5 | 1 |43k wa3VaoAlasY (3 1=26»ACY 4831 1T=3Y40) 2,000.0 2,000.0 -
31 ATa0
1. %aA3184C 13BU3I»A803YY 3c31640A46Y 2,000.0 2,000.0 -
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 2,000.0 2,000.0 -

2400|040 | 0 TUTeE2T20 p252" 25a0A0a000°8 77,049.3 61,049.3 16,000.0
31 ATa0

2450|104 | 5 | 0 | TA=YéQ4AT 61,000.0 45,000.0 16,000.0
&RCo

2451|104 | 5 | 1 |O=Y=243AN3(CY wAi=Yeanr 45,000.0 45,000.0 -
31 ATa0
1. Uupuwywn-plivinlyw Swélh Ybpwlnpngnid 45,000.0 45,000.0 -
- &3NE3Y4iU
- P»YU»AC ~ T2é40l6Y»AC AYAS6CT Yana- ai0 4251 45,000.0 45,000.0 -
a=N&=vail

2455|04 | 5 | 5 |E&0AT3T3R3A3(CY ~ 3 wASYedanr 16,000.0 - 16,000.0
31 ATa0
1. F»E3TY»AC NCUY3YAR4 - 46U 16,000.0 - 16,000.0
- 2[f U»U»Y3Y»fi ~ 63A0= TaR&0Y»h 5129 16,000.0 - 16,000.0

2490|04 | 9 | 0 | SGwnGuwlwl hwpwpbpnipnl GGG (wyy 16,049.3 16,049.3 -
13»ACY 44371 T3Y40)
&RCo

2491|104 | 9 | 1 |SGnbuwywb hwpwpetpnentGbtn (wy nwubnhl 16,049.3 16,049.3 -
4A3T1=2Y40)
31 ATa0
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9. A3AW3ICA Fx3AY»AC - 3YOU3Y 16,049.3 16,049.3 -
I36340AIa6Y Y»ii
- UTCA=T TasAlasyY»i 3l s=fasl al>r=av1ad 4819 16,049.3 16,049.3 -
T3UUST»AA4&0AIA0YY»ACY

2500/05| 0 | O pdx2T2 GE=21206k 42pTa20acAlasu 415,564.5 415,564.5 -
3 A1a0°

2510|105 | 1 | O |Unpwhwbnid 293,564.5 293,564.5 -
El(00)

2511|05| 1 | 1 |Unpwhwlntd 293,564.5 293,564.5 -
3 A1a0°
1. Unpwhwlnpinib L uwGhnwpwlwi 293,564.5 293,564.5 -
U=30A46U0
- Tal&sY3t 1=363{a0AlasyY»h 4213 293,564.5 293,564.5 -

2560| 05| 6 | 0 | PAC3T3 UCc3T3IAC &33BT A&3YAdAla6Y (3IF 122,000.0 122,000.0 -
136»fCY 4431 T=Y40)
£l

2561|05| 6 | 1 |PAcZT= UCc3T3IAC AR W ASY40AIAY (3l 13é»fCY 122,000.0 122,000.0 -
A3TT=3Y40)
3 A1a0"
1. T3Y34 T3A310Y»AC NCUYAdU 120,000.0 120,000.0 -
83N&3Y4a0U
- Talaoyt 1=3¢3(asAlasyV» 4213 120,000.0 120,000.0 -
2. ZET3N3YU3Y " UCc3 a3 AllU3Y 2,000.0 2,000.0 -
I 36340440V Y»ii /1»63 0 CH36C3
- Talaoyt 1=3¢3(asAlasyV» 4213 2,000.0 2,000.0 -

2600/06| 0 | O ~U=2T262020£0 pEU2828a0AUa0U ©T 213,000.0 68,000.0 145,000.0

TagasU=2t 12e20a0A0a000°8

3 A1a0"

2610|06 | 1 | O | “YIISAIY3(CY BCY3A3A46Al45Y 3,000.0 3,000.0 -
£l

2611|106 | 1 | 1 |7 YST3A3Y3ICY RCY2A=haoAlasy 3,000.0 3,000.0 -
3 A1a0"
1. £YQY313U 13640I6Y»AC 03V 1460 3,000.0 3,000.0 -
- 2t I=Eé»i 4861 3,000.0 3,000.0 -

2660|06 | 6 | O | “YIISAIYIICY BCYSIA3[46AI3Y ~ 140467 3F 210,000.0 65,000.0 145,000.0
T36340AIa6YY»i (3l 13é»ACY 4831T3Y40)
£l
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- b»YU»AC ~ T3640l6Y»AC AYAS36CT Yafia- il 4251 20,000.0 20,000.0 -
a=N&=vail
2. Pwquduwplwluwpuwl 26GpGph plip 15,000.0 15,000.0 -
T3YCUY»AC I»A3YaAa- 46U
-D3WAT YA 213(CY =3/ VidsA»h 4269 15,000.0 15,000.0 -
3. “3I3icY T3A3IuY»Ac 155,000.0 10,000.0 145,000.0
E303NA383A31Y»A¢ NCUY3Yaia - 46U 46
a3N83vaoU
- P»YU»AC ~ T=é40l6Y»AC AYAS6CT Yana- &i0 4251 10,000.0 10,000.0 -
a=N&=vail
- b»YU»AC " RCYADAIAGYY»AC TSACTSE T»A3YaR4-4iU | 5113 140,000.0 - 140,000.0
- 2[E U»U»Y3Y»f - 63AUS TaRasUY»A 5129 5,000.0 - 5,000.0
4. Puqldwplwluwpwl 26Gp6ph pupbiuwpqdwl 20,000.0 20,000.0 -
3F 3RE3T3Y0Y»A
- P»YU»AC ~ T=é40l6Y»AC AYAS6CT Yana- &i0 4251 10,000.0 10,000.0 -
a=N&=vail
- Untpuhnhwtip ng wbunwywa (ng hwduwyGpwihl) ng 4521 10,000.0 10,000.0 -
YCY3YE3T3Y T340 T»AA40AI40Y Y»ACY

2800/08| 0 | O p=20v£eT, Zp2TaolA @i Taau 66,299.8 66,299.8 -
31 ATa0

281008 | 1 | O |A3Y-&UC ~ 84ATC I36340AI46YY»HA 5,000.0 5,000.0 -
&RCo

2811/08| 1 | 1 |[P3Y-&WC ARG 1=63(40Al46YY»h 5,000.0 5,000.0 -
31 ATa0
1. 884AT3ICY UCca63646UY»iAC 5,000.0 5,000.0 -
13503 1»i&a0U0
- 2[f AYA=6CT 1A=U=3/YAANY»f 4639 5,000.0 5,000.0 -

2820|108 | 2 | 0 |@B3T140A3ICY 36340440V Y»i 61,299.8 61,299.8 -
&RCo

2821|08 | 2 | 1 |TASLI3AZYY»f 33,599.8 33,599.8 -
31 ATa0
1. TASI3[3YI(CY [363a0Ala0YY»i 33,599.8 33,599.8 -
- Untpuhnhwtn ng howluwywlb wyhnwywo 4511 33,599.8 33,599.8 -
(N=3U3YU=ICY) T3%UST»AAA0AIAY Y »ACY
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3 A1a0"
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- 2[f AYA=6CT 1A=U=3/YAANY»f 4639 20,000.0 20,000.0

2825/08| 2 | 5 |2AT»EW 7,700.0 7,700.0
3 A1a0"
1. CABABU3AT»61C =~ E3A3AI»ETC 7,700.0 7,700.0
N3U»A- Y»i
- Untpuhnhwtn ng howluwywlb wyhnwywo 4511 7,700.0 7,700.0
(N=3U3YU=ICY) T3%UST»AAA0AIAYY»ACY

2900/09| 0 | O ToAabAlaU 835,643.2 835,643.2
3 Ara0"

2910|109 | 1 | 0 |UBE318A406313Y = T3AA3T3Y AVYLIN3YaiA 700,000.0 700,000.0
TAdaohiasy
&RCo

2911|109 | 1 | 1 |U=E314A46=T3Y TAA&sAlasY 700,000.0 700,000.0
3 A1a0"
1. USE318A406313Y 406406400 700,000.0 700,000.0
- Untpuhnhwtn ng howluwywlb wyhnwywo 4511 700,000.0 700,000.0
(N=3U3{YU=ICY) T3%UST»AAA0AIAYY»ACY

295009 | 5 | 0 |AéT UBI3A13TY»AC 41363134 140 132,643.2 132,643.2
TAdaohiasy
&RCo

2951|109 | 5 | 1 [2AW31AA463T3Y 136 WC3A3TasAlasY 132,643.2 132,643.2
3 A1a0"
1. PAT313A46313Y 136 0 C3A3140A/46Y 132,643.2 132,643.2
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3 A1a0"
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Tasize=2120 1 TUTee2£12120 _ 2621281020

21 Azpol 12632120 bdz2UL g2éai

(N=%=f 1A30Y»RAT)

= “laie»WS(CY TSES»AC -afl=63T3Y 136313703y | o 3 ATas0

Ol CL

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutph, hoswtu Gwb _ﬂ = AVISU»YA

o2 2 E ,:3 pinLpbnwihb dwiuutiph nbunbuwghunuwywl c = Junswywb pnigt | $nlnuyhl pyniet

LT 1353137 U3Y NALT3TY»AC SYT3YAUY»AA &
1 (2|34 5 6 7 8 9
AU _2@°UA 12Eé°8 966,623.2 887,623.2 79,000.0
2100|010 | 0 AU _p=20as6 ~UasUALE p20s20£0 233,446.4 227,446.4 6,000.0
T12&20asAlas0u°s

31 ATa0

2110|01| 1 | O |GA»Yé1CA = -aAal31¢cA U3AUCYY»A, 228,446.4 224,446.4 4,000.0
A»T313Y I36373A40U, yCY3Ve313Y
hwpyuwpmpbuwnuyghl hwpwpbpnipniGGGp,
wnunwphl hwpwpbpnipiniGGGR
&RCo

211101 | 1 | 1 |Gfi»Y&1CA ™~ -afT=31Ci USAUCYY»ii, a»r3T3Y 228,446.4 224,446.4 4,000.0
136313400
31 ATa0
1. T3633A03Y U3A0YC 3NE3YaiU 228,446.4 224,446.4 4,000.0
- 2RE=3T1A0Y»AC SRESTST3A0»A 4111 167,843.0 167,843.0 -
N3 T»E3 Tx3AY»A
- &3-S URAUY»A, TABUSTIY EfSE4ea0Y» 4112 19,928.5 19,928.5 -
N=1aiT Tx3AY»f
- WY»A-»WCT 1263[a0AIa0YY»f 4212 8,500.0 8,500.0 -
- Tal&sY3t 1=363{a0AlasyY»h 4213 800.0 800.0 -
- T3AC 1363(aAlasYY»h 4214 7,022.0 7,022.0 -
- 233Mar=-A3T3Y [2E6»h 4215 84.0 84.0 -
- 2iw=2e3(03Y(3Y - 4AT1ai040UY»AC - TaT TSEé»f 4222 1,000.0 1,000.0 -
- DOT3TTST3Y 1363(40Ala5YY»A 4234 866.0 866.0 -
- U»AT=3[=6400a3T3Y 13Eé»i 4237 2,000.0 2,000.0 -
- Canhwntp pGnyph w)p SwrwjnunLtGbEn 4239 1,000.0 1,000.0 -
- DHU»YRY»AC 630 TafaiUY»A¢ AYA=46CT 4252 4,000.0 4,000.0 -
Yafia- 4ol ~ a=N&=Yail
- MA=E»YIST3ICY YiaoA»A ™ N=- 408w 4261 1,500.0 1,500.0 -
- TASYEAAAT3ICY YiaoAx»f 4264 7,772.9 7,772.9 -
- T»Y6303(CY ~~ NSYASICY eYY1C YiadAxfi 4267 600.0 600.0 -
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w2 3| 2 pntobitnuyn dwiuubiph inGinbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt
o =2 1353137 U3Y NALT3TV»AC SYT3YAUY»AA £
1 (2|34 5 6 7 8 9
-D3WAT YA 213(CY 3 VidsA»h 4269 450.0 450.0 -
- A3A31CA Tx3AY»h 4823 80.0 80.0 -
- 2t [SEé»h 4861 1,000.0 1,000.0 -
- 13AE=T3Y 63A0=TaRa0UY»A 5122 4,000.0 - 4,000.0
2150|01 | 5 | O |LanhwGnip pGnyph hwGpughG 2,000.0 - 2,000.0
T36340AIa6YY»AC - IAT N» T3%41313Y
YSE3. [30Y 3RE3T3Y0Y»iA
&RCo
2151101 | 5 | 1 |COnhwGnip pOnyeh hwOpwhG Swewjnuentbbtinh 2,000.0 - 2,000.0
-TAT N> 33ar3T3Y ~ Y3E3. [3(CY
SREST3YUY»A
31 ATa0
1. UBES3- [3gY 3RE3T3Y0Y»i 2,000.0 - 2,000.0
-U3ES3- 1B r3aT3T3Y 1SEéx»i 5134 2,000.0 - 2,000.0
2160|01| 6 | O |L4anhwGnip pGniyph hwlpughG X 3,000.0 3,000.0 -
T36340AIa6Y Y»ii (3IF 136»ACY 4831 1T3Ya0)
&RCo
2161|01| 6 | 1 |COnhwOntp pUnyph hwapwihb SwrewjniNLGbtn (wy| 3,000.0 3,000.0 -
138»ACY 383 13Y40)
31 ATa0
1. _ cUE6UY»A, N3g31¢0U800Y»A, 13 1T3A3YC 1,500.0 1,500.0 -
4AdBaGUY»AC " TxCEY»AC I»U i»A3uYYCE
YApwpbly pnnnplbp GapYuyuwiglthu
E3NUBY I3 ix30400Y»0
- A3A31CA Tx3AY»h 4823 1,500.0 1,500.0 -
2. Qnyph Gyundwdp hpwyniGplbnh 1,500.0 1,500.0 -
-A3YOU3Y, - Y3IN3TU3Y ~
T0» 13T T40AI3Y TA3U31A03Y N» T
I3&T731 ix3A460Y»A
- A3A31CA Tx3AY»h 4823 1,500.0 1,500.0 -
2200/02|0 | 0 a=2pt1a=20a0Alacu 1,000.0 1,000.0 -
31 ATa0
2250( 02| 5 | 0 |&3BUA&3YadAla6Y (3IF 136»ACY 4831 T3Y40) 1,000.0 1,000.0 -
&RCo
2251|102 | 5 | 1 |43k wa3VaoAlasY (3 1=26»ACY 4831 1T=2Y40) 1,000.0 1,000.0 -
31 ATa0
1. %aA3184C 13BU3I»A803YY 3c31640A46Y 1,000.0 1,000.0 -
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 1,000.0 1,000.0 -
2400|040 | 0 TUTeE2T20 p252" 25a0A0a000°8 39,077.4 34,077.4 5,000.0

=t ATai0
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LT 1353137 U3Y NALT3TV»AC SYT3YAUY»AA &

1 (2|34 5 6 7 8 9

2450|104 | 5 | 0 |TA=YéA4AT 33,000.0 28,000.0 5,000.0
&RCo

2451|104 | 5 | 1 |O=Y=243AN3(CY wAi=Yeanr 28,000.0 28,000.0 -
31 ATa0
1. Uupuwywn-plivinlyw Swélh Ybpwlnpngnid 25,000.0 25,000.0 -
- &3NE3Y4iU
- P»YU»fiC * T3643l6Y»AC AYASGCT Yana- &l 4251 25,000.0 25,000.0 -
a=N&=vail
3. CYASO3A»AC T»A3Y4aA4 - 460 3,000.0 3,000.0 -
- P»YU»fiC * T3643l6Y»AC AYASGCT Yana- &l 4251 3,000.0 3,000.0 -
a=N&=vail

2455|04 | 5 | 5 |E&0AT3T3R3A3(CY ~ 3 wASYedanw 5,000.0 - 5,000.0
31 ATa0
1. T»A»E31Y»A¢ NCUY3Yar4 - 40U 5,000.0 - 5,000.0
- 2[f U»U»Y3Y»fi ~ 63A0= TaR&0Y»h 5129 5,000.0 - 5,000.0

2490|04 | 9 | 0 | SGwnGuwlwl hwpwpbpnipnl GGG (wyy 6,077.4 6,077.4 -
13»ACY 44371 T3Y40)
&RCo

2491|104 | 9 | 1 |SGnbuwywb hwpwpetpnipntGbtn (wy nwubnhl 6,077.4 6,077.4 -
4a3T1=2Y40)
31 ATa0
9. A3AT31CA Ix3AY»AC - 3YOU3Y 6,077.4 6,077.4 -
I363J46A146YY»hA
- UTCA=T TasAlasyY»i 3l s=fasld al>r=av1ad 4819 6,077.4 6,077.4 -
T3UUST»AA4&0AIA0YY»ACY

2500/05| 0 | O pdx2T2 G=21206k 42pTa20acAlasu 219,311.2 219,311.2 -
31 ATa0

2510|05| 1 | O |UnpwhwlGmd 152,811.2 152,811.2 -
&RCo

2511/05| 1 | 1 |Unpwhw0ntd 152,811.2 152,811.2 -
31 ATa0
1. Unpwhwlnpinb L uwGhnwpwlwi 152,811.2 152,811.2 -
U=0A46U0
- Tal&sY3t 1=363{a0AlasyY»h 4213 152,811.2 152,811.2 -

2560/ 05| 6 | 0 |bAc3T1=3 UCc3T3IA¢C &33BT E3Y40Al40Y (3IF 66,500.0 66,500.0 -
13»ACY 44371 T3Y40)
&RCo
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LT 13337 U3Y (a1 T3TY»AC 3YT3Yaily»iA £
1 |23 |4 5 6 7 8 9

2561|05| 6 | 1 |PAcZT= UCc3T3IAC AR W ASY4A0AIAY (3l 13é»ACY 66,500.0 66,500.0 -
A3TT=3Y40)
3 A1a0"
1. T3Y34 T3A=[0Y»AC NCUYAGU ~ 65,000.0 65,000.0 -
83N&3v4a0U
- Talaoyt 1=3¢3(asAlasyy» 4213 65,000.0 65,000.0 -
2. ZET3N3YU3Y ~ UCc3 T 3U»AlU3Y 1,500.0 1,500.0 -
[363/46AI40Y YA /1»63 T CH36C=3
- Tal&sY3t 1=363{a0AlasyY»h 4213 1,500.0 1,500.0 -

2600(06|0 | O 02125820200 p£EU2528a0A0a0U T 119,500.0 51,500.0 68,000.0

TagaoU=t 12&20a0Alas0U°s

3 A1a0"

261006 | 1 | O | “YSISAIY3CY BCY3ASAA0AIAY 1,500.0 1,500.0 -
£l

2611|106 | 1 | 1 |~ YST3A3Y3ICY RCYSA=haoAlasy 1,500.0 1,500.0 -
3 A1a0"
1. £YQY313U 1364006 Y»A¢ u3Y146U 1,500.0 1,500.0 -
- 2[f I=Eé»h 4861 1,500.0 1,500.0 -

2660|06 | 6 | O | “YIISAIYIICY BCYS3A3[46AI3Y ~ 140467 3F 118,000.0 50,000.0 68,000.0
T36340AIa6YY»i (3l 13é»ACY 4831T3Y40)
£l

2661|06 | 6 | 1 |~ YST3ASY3(CY RCYSASAAAISY * TaUAYSE 118,000.0 50,000.0 68,000.0
1=2¢3a0AlasYY»A (3l 13eé»ACY 3831 1T3Y40)
3 A1a0"
1. Pwquiwplwluwpw 264GpGph hwnpe 40,000.0 40,000.0 -
T3YCUY»AC I»A3YaAa- 46U
- P»YU»AC ~ T2é40l6Y»AC AYAS6CT Yana- ai0 4251 40,000.0 40,000.0 -
a3\a=vail
3. “3I3icY T3A3IuY»Ac 68,000.0 - 68,000.0
E303NA383A31Y»AC NCUY3YARAE - 46U 46
83N&3v4a0U
- b»YU»AC * RCYADAIAGYY»AC TSACTSE T»A3YaR4-4iU | 5113 63,000.0 - 63,000.0
- 2 U»U»Y3Y»f - 63AUS TarasUY»A 5129 5,000.0 - 5,000.0
4. Puqldwplwluwpwl 26Gp6ph pupbiuwpqdwl 10,000.0 10,000.0 -
3F SRE3T3Y0Y»hA
- P»YU»AC " T=é40l6Y»AC AYAS6CT Yana- &i0 4251 10,000.0 10,000.0 -
a3\a=vail

2800(08|0 | O P20Uv£ET, Bb2TaslA ©1 Tdau 31,962.3 31,962.3 -

=t ATai0
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LT 1353137 U3Y NALT3TV»AC SYT3YAUY»AA £

1 |23 |4 5 6 7 8

281008 | 1 | O |A3Y-&uC ~ 84ATC I36340AI46YY»HA 13,000.0 13,000.0
&RCo

2811/08| 1 | 1 |[D3Y-&WC ARG 1=63(40Al46YY»h 13,000.0 13,000.0
31 ATa0
1. 6841 13ICY UCca63640UY»AC 3,000.0 3,000.0
13503 1»i&a0U0
- 2[f AYA=6CT 1A=U=3/YAANY»f 4639 3,000.0 3,000.0
2. <wlquunh gnunhllbiph b gpnuuyghlbbiph 10,000.0 10,000.0
126400400 46 83NE3Y4dU
- P»YU»AC " T2é40l6Y»AC AYAS6CT Yana- ai0 4251 10,000.0 10,000.0
a=N&=vail

2820|108 | 2 | O |@B3T40A3ICY 36340446V Y»i 18,962.3 18,962.3
&RCo

2821|108 | 2 | 1 |AZ13A/A3YY»A 8,962.3 8,962.3
31 ATa0
1. YAZI3[A3Y3oY [B63J40AI46YY»hA 8,962.3 8,962.3
- Untpuhnhwtn ng howluwywlb wyhnwywo 4511 8,962.3 8,962.3
(N=3U3YU=ICY) T3%UST»AAA0AIAY Y »ACY

2824108 | 2 | 4 |2l URSTAAZICY T3%UST»AA40AIAYY»A 10,000.0 10,000.0
31 ATa0
1. DBRZTE0A3ICY UCcA63E6400Y»AC 10,000.0 10,000.0
CASI=3Y3646U
- 2[f AYA=6CT 1A=U3RYAANY»f 4639 10,000.0 10,000.0

2900/09| 0 | O ToAabAlaU 293,242.4 293,242.4
31 ATa0

2910|109 | 1 | 0 |UBE318A406313Y = T3AA3T3Y AVYLN3YaA 250,000.0 250,000.0
TAdaohiasy
&RCo

2911|109 | 1 | 1 |U=E314A46=T3Y TAAasAlasY 250,000.0 250,000.0
31 ATa0
1. USE318A406313Y 406406400 250,000.0 250,000.0
- Untpuhnhwtn ng howluwywlb wyhnwywo 4511 250,000.0 250,000.0
(N=3U3{YU=ICY) T3%UST»AAA0AIAYY»ACY

2950| 09 | 5 | 0 |A87 UBTI3A131Y»AC 41363131 740 43,242.4 43,242.4
TAdaohiasy
&RCo

2951|109 | 5 | 1 [2AW31AA463T3Y 136 WC3A3TasAlasY 43,242.4 43,242.4
31 ATa0
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[ 2 3 =t U»YA
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LT 1353137 U3Y NALT3TV»AC SYT3YAUY»AA £
1 |23 |4 5 6 7 8 9

1. 2ZAT318A46313Y 1367 C3A=3140Ala0Y 43,242.4 43,242.4
- Untpupnhw0tin ng jahﬁwﬁquLLyU wbwnwywal 4511 43,242.4 43,242.4
(N=3U3{YU=ICY) T3%UST»AAA0AIAY Y »ACY

3000(10|0 | O €ao0k=2t2T20 a42pT1a=20a0Ala0U 29,083.5 29,083.5
31 ATa0

307010 | 7 | O | @46C3F313Y N3 1A SATAYA0AIA6YY»i (3IE 18,000.0 18,000.0
13»ACY 48371 T3Y40)
&RCo

3071|10| 7 | 1 |€46C3E3T3Y N3 Tadl SAwaYasAlasyy»h (3 18,000.0 18,000.0
13¢»ACY 383 T3Y40)
31 ATa0
1. 40C3F38»6 3Y3E3NAT AYT3YCUY»AC 500.0 500.0
»A»E3Y»AC N3Y - 6 1C I33U31»A&4oU0
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 500.0 500.0
2. D3A3Y3T 440Y»640 3Y03Y6 ~ 1,000.0 1,000.0
E40C3E3426 3Y3E3NAT AYT3YCuY»ic
N3U37A Na603AT=314A40AI3Y 13303 1»>A8400
- Canhwntp pOnyph w)p SwrwjnunLGbEn 4239 1,000.0 1,000.0
3. 40C338»6 3Y3E3NAT AYT3YCuY»ACY 6,500.0 6,500.0
VAYSI3Y T NCB3U I Of»ACY S¢31640Al46Y
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 6,500.0 6,500.0
4. 84033876 3YS43NAT 3Y03Yo 10,000.0 10,000.0

c31640Al46Y

- UTCAS T Ta0AlaaY V> 3(E s=NadlA al»1=&v140 4819 10,000.0 10,000.0
T3UUST»AA4&0AIA0YY»ACY

309010 | 9 | O |846C3H313Y &30 A&3Y40Al46Y (3IF 11,083.5 11,083.5
13»ACY 44371 T3Y40)
&RCo

3091|10| 9 | 1 |€A6C3EZT3Y &SR W ASYa0AlasY (S 1=36»ACY 11,083.5 11,083.5
3A3T1=2Y40)
31 ATa0
1. 46C3F313Y (- Ya0AIZY [3E3g6AIa6Y Y»AC 11,083.5 11,083.5

- A 140Y»a6AI3Y 13%0=1>n8400

(BT ICAZTT3I EC34%4N40AI40YY»1i)
- 2RE=3T1A0Y»AC SRESTST3A0»A 4111 10,507.7 10,507.7
N3 T»E3 Tx3AY»A
- WY»A-»WCT 1263[a0AIa0YY»f 4212 132.0 132.0
- T2AC 1363{a0AlasYY»h 4214 90.0 90.0
- TASe»YI=T3ICY YidoA»A ~ N=- 456w 4261 103.8 103.8
- TASYEAAAT3ICY YiaoAx»f 4264 250.0 250.0
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o2 2 E ,:3 pinLpbnwihb dwiuutiph nbunbuwghunuwywl c = Junswywb pnigt | $nlnuyhl pyniet

LT 1353137 U3Y NALT3TY»AC SYT3YAUY»AA &
1 (2|34 5 6 7 8 9
AU _2@°UA 12Eé°8 1,936,628.2 1,779,628.2 157,000.0
2100{01| 0 | O AU _ 20208 ~UastUAL b2Us20£0 380,921.8 373,921.8 7,000.0
T12e20a0A0a0u0°s

31 ATa0

2110|101 | 1 | O |dA»Yé1CA = -8AT31CA UBAUCYY»A, 369,666.7 364,666.7 5,000.0
A»T313Y I36373A40U, yCY3Ve313Y
hwpyuwpmpbuwnuyghl hwpwpbpnipniGGGp,
wnunwphl hwpwpbpnipiniGGGR
&RCo

211101 | 1 | 1 |Gfi»Y&1CA ™~ -afT=31Ci USAUCYY»ii, a»r3T3Y 369,666.7 364,666.7 5,000.0
136313400
31 ATa0
1. T3633A03Y U3A0YC 3NE3YaiU 369,666.7 364,666.7 5,000.0
- 2RE=3T1A0Y»AC SRESTST3A0»A 4111 267,878.0 267,878.0 -
N3 T»E3 Tx3AY»A
- a3 "3 whalY»f, 1A303T3Y EASE4ieaiUY»h 4112 40,074.4 40,074.4 -
N=1aiT Tx3AY»f
- WY»A-»WCT 1263[a0AIa0YY»f 4212 14,730.0 14,730.0 -
- Tal&sY3t 1=363{a0AlasyY»h 4213 2,293.0 2,293.0 -
- T3AC 1363(aAlasYY»h 4214 8,783.0 8,783.0 -
- 233Mar=-A3T3Y [2E6»h 4215 403.0 403.0 -
- 2iw=2e3(03Y(3Y - 4AT1ai040UY»AC - TaT TSEé»f 4222 1,000.0 1,000.0 -
- 1 3AEST3Y 13¢3[a0Ala0Y Y»h 4231 200.0 200.0 -
- DOT3TTST3Y 1363(40Ala5YY»A 4234 900.0 900.0 -
- U»AT=3[=6400a3T3Y 13Eé»i 4237 2,000.0 2,000.0 -
- Canhwlntp pOnyph w)p SwrwjnunLtGbtEn 4239 700.0 700.0 -
- @36Y=3-Cw3T3Y 13¢3[40AlasYY»h 4241 2,154.6 2,154.6 -
- DHU»YRY»AC 630 TafaiUY»A¢ AYA=46CT 4252 3,500.0 3,500.0 -
Yafia- 4ol ~ a=N&=Yail
- MA=E»YIST3ICY YiaoA»A —~ N=- 408w 4261 5,300.5 5,300.5 -
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wm = 2| E2 pinLetinwih( dwiuubiph tlinuwghunwywt c= Junswyw pnigl | dnlnwghl pynegt
LT 1353137 U3Y NALT3TV»AC SYT3YAUY»AA &
1 (2|34 5 6 7 8
- TASYEAAAT3ICY YiaoA»f 4264 11,915.3 11,915.3 -
- T»Y6303(CY ~~ NSYASICY eYY1C YiadAxfi 4267 1,782.5 1,782.5 -
- A3AT31CA Tx3AY»h 4823 52.4 52.4 -
- 2[f I=Eé»h 4861 1,000.0 1,000.0 -
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138»ACY 383 13Y40)
31 ATa0
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LT 1363T3R-U3Y NALTSIV»AC 3YT3VaiUV»A £
1 |23 |4 5 6 7 8 9

1. CU46UY»A, N3631C0460Y»A, 13 13A3YC 4,000.0 4,000.0
4AdBaGUY»AC ~ TxCEY»AC I»U i»A3uYYCE
YArewpbl pnnnplbp GapYuywiglthu
E3NUBY 31 ix30a00Y»0
- A3AT31CA Tx3AY»f 4823 4,000.0 4,000.0
2. Qnuyph Ghundwdp hpwyniGplGEnph 2,000.0 2,000.0
-ASYEU3Y, -YIN3TU3Y
T0» 13T T40AI3Y TA3U31A03Y N» T
I3&731 ix3A460Y»A
- A3AT31CA Tx3AY»f 4823 2,000.0 2,000.0

2200/02|0 | 0 a=2pt1a=20a0Alacu 5,370.0 5,370.0
3 A1a0°

222002 | 2 | 0 |8303036C313Y 381 E3Y40Al46Y 1,000.0 1,000.0
&RCo

2221|102 | 2 | 1 |2=20=30=26C3T3Y 3R T A3YaiAlasY 1,000.0 1,000.0
3 A1a0"
1. g303036C313Y 83U E3YA0AI3YY 1,000.0 1,000.0
Sc31640Ala6Y
- Canhwlnip pGnyph w)p SwrwjnunLtGbEn 4239 1,000.0 1,000.0

2250( 02| 5 | 0 |&3BUA&3YadAla6Y (3IF 136»ACY 4831 T3Y40) 4,370.0 4,370.0
&RCo

2251|102 | 5 | 1 |43k wa3VaoAlasY (3 1=26»ACY 4831 1T=2Y40) 4,370.0 4,370.0
3 A1a0"
1. %aA3184C I3BU3I»A8U3YY Sc31040AI46Y 4,370.0 4,370.0
- 400G T eSAUSB TARAUY»AC TA0ST3E40Ala5Y 4216 1,800.0 1,800.0
- TASYEAAAT3ICY YiaoAx»f 4264 1,070.0 1,070.0
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 1,500.0 1,500.0

2400|040 | 0 TUTeE2T20 p252" 25a0A0a000°8 86,747.9 86,747.9
3 A1a0"

245004 | 5 | 0 | TA3YE&4AT 66,500.0 66,500.0
&RCo

2451|104 | 5 | 1 |O=Y=243AN3(CY wAi=Yean T 66,500.0 66,500.0
3 A1a0"
1. Uupwyin-punbyw dwoélh epwinpngnid 66,500.0 66,500.0
- &3NE3Y4iU
- P»YU»AC " T=é40l6Y»AC AYAS6CT Yana- &i0 4251 66,500.0 66,500.0
a=N&=vail
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2490| 04 0 | SGwnbGuwlwl hwpwpbpnipiniGGER (wyy 20,247.9 20,247.9
13»ACY 48371 T3Y40)
&RCo

2491|104 | 9 | 1 |SGnbuwywb hwpwpetpnipnLGbtn (wy nwubnhl 20,247.9 20,247.9
&3TT=3Y40)
3 A1a0°
9. A3AT3ICA Ix3AY»AC - 3YOU3Y 20,247.9 20,247.9
1363146Al46YY»i
- UTCA=T TasAlasyY»i 3l s=fasl al>r=av1ad 4819 20,247.9 20,247.9
T3UUST»AA4&0AIA0YY»ACY

2500/05| 0 | O pdx2T2 G=21206k 42pTa20acAlasu 1,589,870.1 1,589,870.1
3 A1a0"

2510|05| 1 | O |UnpwhwlGmd 1,239,215.6 1,239,215.6
&RCo

2511/05| 1 | 1 [Unpwhw0ntd 1,239,215.6 1,239,215.6
3 A1a0"
1. Unpwhwlnipint G L uwGhunwpwlywl 1,239,215.6 1,239,215.6
U=0A46U0
- Tal&sY3t 1=363{a0AlasyY»h 4213 1,239,215.6 1,239,215.6

2530|05 | 3 | 0 | PAC3T3 UCc3T3IAC 30141 U3Y 150 8303A 14,709.1 14,709.1
&RCo

2531 05| 3 | 1 |G2C 30MawU3Y 10 &3U=h 14,709.1 14,709.1
3 A1a0"
1. I»T»AC N&GY»A¢ U3aAdiu 14,709.1 14,709.1
- Tal&sY3t 1=363{a0AlasyY»h 4213 14,709.1 14,709.1

2560| 05| 6 | 0 | PAC3T3 UCc3T3IAC &33BT A&3YAdAla6Y (3IF 335,945.4 335,945.4
1360y 4431 T=Y40)
&RCo

2561|05| 6 | 1 |PAcZT= UCc3T3IAC AR W ASYA0AIAY (3 13é»ACY 335,945.4 335,945.4
A3TT=3Y40)
3 A1a0"
1. T3Y34 w33 [0Y»A¢ NgUYaiu 300,000.0 300,000.0
a3N83vaoU
- Tal&sY3t 1=363{a0AlasyY»h 4213 300,000.0 300,000.0
2. ZET3N3YU3Y ~ UCc3T3»AlUu3yY 35,015.4 35,015.4
I 36340440V Y»ii /1»63 0 CH36C3
- Tal&sY3t 1=363{a0AlasyY»h 4213 35,015.4 35,015.4
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LT 1363T3R-U3Y NALTSIV»AC 3YT3VaiUV»A £
1 |23 |4 5 6 7 8

3. PIEIA3I3I3Y 346 - 3A3YY»AC 930.0 930.0 -
83NE&3Ya0U ~ i»A3Yahia- 60
- Tal&sY=t 13¢3(a0Ala0yY Vi 4213 930.0 930.0 -

2600(06|0 | O 0212520200 pEU2528a0A0a0U ©1 213,000.0 138,000.0 75,000.0

TagaoU=2t 12&20a0Alas0U°s

3 A1a0°

261006 | 1 | O | “YSISAIY3CY BCY3ASAA0AIAY 2,000.0 2,000.0 -
afce’

2611|106 | 1 | 1 |7 YST3A3Y3ICY RCYSA=haoAlasY 2,000.0 2,000.0 -
3 A1a0°
1. £YQY313U 1364006 Y»A¢ u3Y146U 2,000.0 2,000.0 -
- 2 I3Eé»h 4861 2,000.0 2,000.0 -

2660|06 | 6 | O | “YIISAIYIICY BCYS3A3[46AI3Y ~ 14046V 3F 211,000.0 136,000.0 75,000.0
36340446y Y»i (3l 13é»ACY 4831T3Y40)
Ele)

2661|06| 6 | 1 |~ YST3ASYS3(CY RCYSAZAAAIBY ™ TaUasy3t 211,000.0 136,000.0 75,000.0
1=2¢3a0AlasYY»A (3l 13eé»ACY 3831 1T3Y40)
3 A1a0"
1. Pwquiwplwuwpw 264GpGph hwnpe 25,000.0 25,000.0 -
T3YCUY»AC i»A3YanAa-ail
- P»YU»AC " T=é40l6Y»AC AYAS6CT Yana- &i0 4251 25,000.0 25,000.0 -
as3la=val
3. “3I3icY T3A3IuY»Ac 81,000.0 6,000.0 75,000.0
E303NA383A31Y»AC NCUY3YARAE - 46U 46
a3N43vaiU
- P»YU»AC ~ T=é40l6Y»AC AYAS6CT Yana- ai0 4251 6,000.0 6,000.0 -
as3la=val
- b»YU»AC * RCYADAIAGYY»AC TSACTSE T»A3YaRa-4iU | 5113 70,000.0 - 70,000.0
- 2 U»U»Y3Y»f -~ 63AUS TaRasUY»A 5129 5,000.0 - 5,000.0
4. Puqldwplwluwpwl 26Gp6nph pupbiuwpqdwl 105,000.0 105,000.0 -
3 BRE3T3Y0Y»A
- P»YU»AC " T2é40l6Y»AC AYAS6CT Yana- ai0 4251 5,000.0 5,000.0 -
as3la=val
- Untpuhnhwtip ng wbunwywa (ng hwduwyGpwihl) ng 4521 100,000.0 100,000.0 -
YCY3YE3T3Y T340 T»AA4&0AIA0Y Y»ACY

2800(08|0 | O P2UT£ET, Zb=TasUA <1 Tdau 63,060.0 63,060.0 -
3 A1a0"

281008 | 1 | O |A3Y-&uC ~ 84ATC I36340AI46YY»HA 4,000.0 4,000.0 -
Elle)
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2811/08| 1 | 1 |[P3Y-&WC ~ 8A4ARNC 1=63(40Al46YY»h 4,000.0 4,000.0
31 ATa0
1. 884AT3ICY UCca63645UY»iAC 4,000.0 4,000.0
I33U31»A&400
- Canhwntp pOnyph wyp SwrwjnunLGbEn 4239 4,000.0 4,000.0

2820|108 | 2 | 0 |@B3T140A3ICY 363404146V Y»ii 59,060.0 59,060.0
&RCo

2821|08 | 2 | 1 |TASLI3AZYY»f 8,360.0 8,360.0
31 ATa0
1. YAZ1I3[3Y3oY [B63J40AI46YY»hA 8,360.0 8,360.0
- Untpuhnhwtn ng howluwywlb wyhnwywo 4511 8,360.0 8,360.0
(N=3U3YU=ICY) T3%UST»AAA0AIAYY»ACY

2824108 | 2 | 4 |2l URSTAAZICY T3%UST»AA40AIAYY»A 37,000.0 37,000.0
31 ATa0
1. DBRZTE0A3ICY UCcA63E6400Y»AC 37,000.0 37,000.0
CASI=3Y3646U
- Canhwlnip pGnyph w)p SwrwjnunLtGbEn 4239 37,000.0 37,000.0

2827|108 | 2 | 7 |DaiR3A03YY»AC ~ URSTAIAZICY SAA»UY»AC 13,700.0 13,700.0
»A3T3Y - Yail ~ a3(a3yvail
31 ATa0
1. PAGR3A03YY»AC I»A3Yana-ail 13,700.0 13,700.0
a3N83vaoU
- Canhwnip pGnyph w)p SwrwjnunLGbtn 4239 13,700.0 13,700.0

2900/09| 0 | O ToAabAlaU 735,888.1 735,888.1
31 ATa0

2910|109 | 1 | 0 |UBE318A406313Y = T3AA3T3Y AVYLN3YaA 601,272.0 601,272.0
TAA&oAla6Y
&RCo

2911|109 | 1 | 1 |U=E314A46=T3Y TAAasAlasY 601,272.0 601,272.0
31 ATa0
1. USBE315746313Y aiéaioacl 601,272.0 601,272.0
- Untpuhnhwtn ng howluwywlb wyhnwywo 4511 601,272.0 601,272.0
(N=3U3{YU=ICY) T3%UST»AAA0AIAYY»ACY

2950| 09 | 5 | 0 |A87 UBTI3A131Y»AC 41363131 740 134,616.1 134,616.1
TAA&oAla6Y
&RCo

295109 | 5 | 1 |2AT31A/463T3Y 136w C3A3TasAlasY 134,616.1 134,616.1
31 ATa0
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LT 1353137 U3Y NALT3TV»AC SYT3YAUY»AA £
1 |23 |4 5 6 7 8 9

1. 2ZAT318A46313Y 1367 C3A=3140Ala0Y 134,616.1 134,616.1
-NUanqhnthﬁbn ns jahﬁwﬁquLLyU wbwnwywal 4511 134,616.1 134,616.1
(N=3U=3YO3ICY) T3S T»A&A0AIAGYY»ACY

3000(10|0 | O €ao0k=2t2T20 a42pT1a=20a0Ala0U 98,997.8 98,997.8
31 ATa0

3070(10 | 7 | O | @46C3¢3T13Y N37ail SATAYA0AI40YY»A (SIE 73,218.6 73,218.6
136»fCY 4431 T=Y40)
&RCo

3071|10| 7 | 1 |€46C3E3T3Y N3 Tadl SAwaYasAlasyy»h (3 73,218.6 73,218.6
13¢»ACY 383 T3Y40)
31 ATa0
2. D3A3Y3T 440Y»640 3Y03Y6 ~ 1,500.0 1,500.0
E40C3E3426 3Y3E3NAT AYT3YCUY»ic
N3U37A Na603AT1=314A40AI3Y 13303 1»>A8460
- Canhwlnip pGnyph w)p SwrwjnunLGbEn 4239 1,500.0 1,500.0
3. B40C3E38»6 3Y3E3NAT AYT3YCUY»ACY 41,118.6 41,118.6
VAYSI3Y T NCB3W I Of»ACY S¢31640Al46Y
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 38,108.6 38,108.6
- W Guwuwnbbp pinuobihg 4729 3,010.0 3,010.0
4. E40C3E3Ex6 3Y3E3N4T 3Y03Y6 29,400.0 29,400.0

c31640Ala6Y

- 400G T eSAUSB TARAUY»AC TA0ST3E40Ala5Y 4216 7,200.0 7,200.0
- UTCA= TaoAlaoYY»fi 3l s=Nadld al»r=&y140 4819 22,200.0 22,200.0
T3UUST»AA40AIA0YY»ACY
5. DIEIABI3I3Y ISRV I»>AB46AI46Y Y»ACY 1,200.0 1,200.0
Sc31640Ala6Y
- UTCA=T TaoAlaoYY»i 3l s=Naold al»r=&y140 4819 1,200.0 1,200.0
T3UUST»AA4&0AIAYY»ACY

309010 | 9 | O |846C3H313Y &30 A&3Ya40Al46Y (3IF 25,779.2 25,779.2
13»ACY 44371 T3Y40)
&RCo

3091|10| 9 | 1 |€A6C3EZT3Y &SR W ASYa0AlasY (S 1=26»ACY 25,779.2 25,779.2
4A3T1=2Y40)
31 ATa0
1. @46C3F313Y (- Y0AIZY [3E3g0AIA6Y Y»AC 25,779.2 25,779.2

- A 140Y»a6AI3Y 1330318400

(BT ICAZTT3I EC34%a040AI40YY»1i)
- 2RE=3T1A0Y»AC SRESTST3A0»A 4111 24,378.7 24,378.7
N3 T»E3 Tx3AY»A
- WY»A-»WCT 1263[a0AIa0YY»f 4212 483.1 483.1
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- Tal&sY3t 1=363{a0AlasyY»h 4213 25.0 25.0
- T2AC 1363{a0AlasYY»h 4214 280.0 280.0
- @»U»Y3Y»AC 63U TaRailY»Ac AYAS6CT 4252 50.0 50.0
Yafia- &l - &=Na=v4i0
- TASe»YI=T3ICY YidoA»A ~ N=- 456w 4261 262.4 262.4
- TASYEAAAT3ICY YiaoA»f 4264 300.0 300.0
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LT 1353137 U3Y NALT3TY»AC SYT3YAUY»AA &
1 (2|34 5 6 7 8 9
AU _2@g°UA T12Eé°5s 2,398,917.0 2,232,041.9 166,875.1
2100|010 | 0 AU _p202a08 'UépUAE p208=20£U 442,465.2 430,590.1 11,875.1
T12&20asAlas0u°s

31 ATa0

2110|01| 1 | O |GA»Yé1CA = -aAal31¢cA U3AUCYY»A, 429,960.1 422,085.0 7,875.1
A»T313Y I36373A40U, yCY3Ve313Y
hwpyuwpmpbuwnuyghl hwpwpbpnipniGGGp,
wnunwphl hwpwpbpnipiniGGGR
&RCo

211101 | 1 | 1 |Gfi»Y&1CA ™~ -afT=31Ci USAUCYY»ii, a»r3T3Y 429,960.1 422,085.0 7,875.1
136313400
31 ATa0
1. T3633A03Y U3A0YC 3NE3YaiU 426,085.0 422,085.0 4,000.0
- 2RE=3T1A0Y»AC SRESTST3A0»A 4111 316,108.0 316,108.0 -
N3 T»E3 Tx3AY»A
- &3 "3 TRalY»h, 1A303T3Y EASEAiea0UY»h 4112 45,809.4 45,809.4 -
N=1aiT Tx3AY»f
- WY»A-»WCT 1263[a0AIa0YY»f 4212 10,273.1 10,273.1 -
- Tal&sY3t 1=363{a0AlasyY»h 4213 562.5 562.5 -
- T3AC 1363(aAlasYY»h 4214 9,300.4 9,300.4 -
- 233Mar=-A3T3Y [2E6»h 4215 150.0 150.0 -
- 2iw=2e3(03Y(3Y - 4AT1ai040UY»AC - TaT TSEé»f 4222 1,000.0 1,000.0 -
- 1 3AEST3Y 13¢3[a0Ala0Y Y»h 4231 200.0 200.0 -
- DO TSTTST3Y 136340Ala0YY»h 4234 1,600.2 1,600.2 -
- U»AT=3[=6400a3T3Y 13Eé»i 4237 1,000.0 1,000.0 -
- Canhwlntp pOnyph w)p SwrwjnunLtGbtEn 4239 1,200.0 1,200.0 -
- @36Y=3-Cw3T3Y 13¢3[40AlasYY»h 4241 760.0 760.0 -
- DHU»YRY»AC 630 TafaiUY»A¢ AYA=46CT 4252 4,600.0 4,600.0 -
Yafia- 4ol ~ a=N&=Yail
- MA=E»YIST3ICY YiaoA»A —~ N=- 408w 4261 5,777.0 5,777.0 -
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LT 1363137-U3Y NAaLT3TY»AC SV T3YaiUY»AA &
1 (2|34 5 6 7 8

- TASYEAAAT3ICY YiaoA»f 4264 20,881.7 20,881.7 -
- T»Y6303(CY ~~ NSYASICY eYY1C YiadAxfi 4267 1,712.7 1,712.7 -
- A3A31CA Tx3AY»h 4823 150.0 150.0 -
- 2[f I=Eé»h 4861 1,000.0 1,000.0 -
- 13AE2T3Y 63A0=T4Ra0UY»A 5122 4,000.0 - 4,000.0
2. duwpswlwl opybyintlinh hhoGwlnpngniJ 3,875.1 - 3,875.1
- b»YO»AC * RCYADAIAGYY»AC TSACTSE T»A3YaR4-40U | 5113 3,875.1 - 3,875.1

2130|01| 3 | O |LanhwGmp plGnyph SwruynipinlGaEGn 5,255.1 5,255.1 -
anco’

2131/01| 3|1 UzrqunwL|wqdh /Yqwnpbnh/ génd pGnhwbnip panyph 5,255.1 5,255.1 -
1363[a0Ala5YY»fi
3 ATas0
1. 303036C313Y 13640A13Y STU»AC 5,255.1 5,255.1 -
-ABYOU3Y 363406413 - 4AI40Y»a0AI3Y
I=3U=31»A8400 (A3 1 iCAZT1T31
EC3YAAAGAIAGY Y1)
- 2RE=3T1A0Y»AC SRESTST3A0»A 4111 4,431.1 4,431.1 -
N3 T»E3 Tx3AY»A
- WY»A-»WCT 1263[a0AIa0YY»f 4212 390.0 390.0 -
- Tal&sY=t 13¢3(apAla0yY Vi 4213 74.8 74.8 -
- T3AC 1363(aAlasYY»h 4214 231.6 231.6 -
- MA=E»YIST3ICY YiaoA»A —~ N=- 408w 4261 77.6 77.6 -
- T»Y6303(CY ~~ NSYASICY eYY1C YiadAxfi 4267 40.9 40.9 -
- A3A31CA Tx3AY»h 4823 9.1 9.1 -

2150\ 01| 5 | O |Lanhwlnip plnyph hwlpuyhG 4,000.0 - 4,000.0
l3e3ﬂa0A//a0YY»nC T47 N» 133413137
YBEZ. [3gY 3BE3T3YaY»iA
anco’

2151|101 | 5 | 1 |RGnhwGnip plnyeh hwlpwihG swewjnteintbGEnph 4,000.0 - 4,000.0

-TAT N> 03HaAT3T3Y  V3E=- [3(CY

SRE3T3Y0Y»i
3 ATas0
1. USBE3-[3cY SRE3T3Y0Y»h 4,000.0 - 4,000.0
- USE=- 1213 r3T3Y [SEex»i 5134 4,000.0 - 4,000.0

2160|01| 6 | O |L4anhwGnip pGniyph hwlpughG X 3,250.0 3,250.0 -
T36340AIa6Y Y»ii (3IF 136»ACY 4831 1T3Ya0)
anco’

2161\01| 6 | 1 |COnhwGnip pnyph hwlpwihG dwewynipntbbtn (wy 3,250.0 3,250.0 -
138»ACY 383 13Y40)
3 ATas0
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= “laie»>WSCY TSES»AC - afl=63T3Y 136313703y | 3 ATas0

Ol CL

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hoswtu Gwb 2 = AVIZ(»VA

[ 2 3 =t U»YA

wm = 2| B2 pntobitnuyn dwiuubiph inGinbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt

LT 1353137 U3Y NALT3TV»AC SYT3YAUY»AA £
1 (2|34 5 6 7 8

1. _ cUEsUY»A, N331¢0U800Y»A, 13 13A3YC 2,000.0 2,000.0 -
4AdBaGUY»AC ~ TxCEY»AC I»U i»A3uYYCE
YArewpbl pnnnplbp GapYuywiglthu
E3NUBY 31 ix30a00Y»0
- A3A31CA Tx3AY»h 4823 2,000.0 2,000.0 -
2. Qnuyph Ghundwdp hpwyniGplGEnph 1,250.0 1,250.0 -
-A3YOU3Y, -Y3IN3TU3Y ~
T0» 13T T40AI3Y TA3U31A03Y N» T
I3&731 ix3A460Y»A
- A3A31CA Tx3AY»h 4823 1,250.0 1,250.0 -

2200/02|0 | 0 a=2pt1a=20a0Alacu 2,000.0 2,000.0 -
31 ATa0

2250|102 | 5 | 0 |&3BWE3Ya0Al46Y (3IF 136»ACY 4831 1T3Ya0) 2,000.0 2,000.0 -
&RCo

2251|102 | 5 | 1 |43k wa3VaoAlasY (3 1=26»ACY 4831 1T=3Y40) 2,000.0 2,000.0 -
31 ATa0
1. %aA3184C 13BU3I»A803YY 3c31640A46Y 2,000.0 2,000.0 -
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 2,000.0 2,000.0 -

2400|040 | 0 TUTeE2T20 p252" 25a0A0a000°8 76,640.3 61,640.3 15,000.0
31 ATa0

2450|104 | 5 | 0 | TA=YéQ4AT 55,000.0 40,000.0 15,000.0
&RCo

2451|104 | 5 | 1 |O=Y=243AN3(CY wAi=Yeanr 40,000.0 40,000.0 -
31 ATa0
1. Uupuwywn-plivinlyw Swélh Ybpwlnpngnid 40,000.0 40,000.0 -
- &3NE3Y4iU
- P»YU»AC ~ T2é40l6Y»AC AYAS6CT Yana- ai0 4251 40,000.0 40,000.0 -
a=N&=vail

2455| 04 | 5 | 5 |E&A0ATST3R3AZICY 3 wA3YeA4A T 15,000.0 - 15,000.0
31 ATa0
1. I»»E3TY»AC NCUY3YAR4 - 46U 15,000.0 - 15,000.0
- 2[f U»U»Y3Y»fi ~ 63A0= TaR&0Y»h 5129 15,000.0 - 15,000.0

2490|04 | 9 | 0 | SGwnGuwlwl hwpwpbpnipnl GGG (wyy 21,640.3 21,640.3 -
136»fCY 4431 T=Y40)
&RCo

2491|104 | 9 | 1 |SGnbuwywb hwpwpetpnentGbtn (wy nwubnhl 21,640.3 21,640.3 -
4A3T1=2Y40)
31 ATa0
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hoswtu Gwb 3 = AVIS(sYA

c = g 3 G Swfuubph LG Y = ” anwihG

wm = 2| E2 pinLetinwih( dwiuubiph tlinuwghunwywt c= Junswyw pnigl | dnlnwghl pynegt

LT 1363T3R-U3Y NALTSIV»AC 3YT3VaiUV»A £

1 |23 |4 5 6 7 8 9
9. A3AW3ICA Fx3AY»AC - 3YOU3Y 21,640.3 21,640.3 -
1363146Al46YY»i
- UTCA=T TasAlasyY»i 3l s=fasl al>r=av1ad 4819 21,640.3 21,640.3 -
T3UUST»AA4&0AIA0YY»ACY

2500/05| 0 | O pdx2T2 GE=21206k 42pTa20acAlasu 631,759.5 631,759.5 -
3 A1a0°

2510|105 | 1 | O |Unpwhwbnid 456,759.5 456,759.5 -
&RCo

2511 05| 1 | 1 |Unpwhw(ntd 456,759.5 456,759.5 -
3 A1a0°
1. Unpwhwlnpinib L uwGhnwpwlwi 456,759.5 456,759.5 -
U=30A46U0
- Tal&sY3t 1=363{a0AlasyY»h 4213 456,759.5 456,759.5 -

2560| 05| 6 | 0 | PAC3T3 UCc3T3IAC &33BT A&3YAdAla6Y (3IF 175,000.0 175,000.0 -
13»ACY 44371 T3Y40)
&RCo

2561|05| 6 | 1 |PAcZT= UCc3T3IAC AR W ASY40AIAY (3l 13é»fCY 175,000.0 175,000.0 -
A3TT=3Y40)
3 A1a0"
1. T3Y34 T3A310Y»AC NCUYAdU 175,000.0 175,000.0 -
a3N83vaoU
- Tal&sY3t 1=363{a0AlasyY»h 4213 175,000.0 175,000.0 -

2600/06| 0 | O “U2126202U£U PEU25282a0A0a0U ©1 189,600.0 49,600.0 140,000.0

TagasU=2t 12e20a0A0a000°8

3 A1a0"

261006 | 1 | O | “YSISAIY3CY BCY3ASAA0AIAY 1,000.0 1,000.0 -
&RCo

2611|106 | 1 | 1 |7 YST3A3Y3ICY RCYSA=hanAlasy 1,000.0 1,000.0 -
3 A1a0"
1. £YQY313U 1364006 Y»AC 03V 1460 1,000.0 1,000.0 -
- 2t TSEé»h 4861 1,000.0 1,000.0 -

2660|06 | 6 | O | “YIISAIYIICY BCYS3A3[46AI3Y ~ 14046V 3F 188,600.0 48,600.0 140,000.0
T36340AIa6YY»i (3l 13é»ACY 4831T3Y40)
&RCo

2661|06 | 6 | 1 |~ YST3A3Y3(CY RCYSASAAAISY * TaUAYSE 188,600.0 48,600.0 140,000.0
1=2¢3{40AlasYY»A (3l 13é»ACY 3831 1T=3Y40)
3 A1a0"

97




“ e 3ICY TSESHTC - anl=363T3Y 1563137 U3y

=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hoswtu Gwb 2 = AVIZ(»VA

= = 3 =g U»YA

wm = 2| B2 pntobitnuyn dwiuubiph inGinbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt

LT 1353137 U3Y NALT3TV»AC SYT3YAUY»AA £
1 |23 |4 5 6 7 8 9

1. Pwquiuwplwlwpw 264GpGph hwnp 20,000.0 20,000.0 -
T3YCUY»AC I»A3YaAa - a6U
- b»YU»AC " T3640l6Y»AC AYAS6CT Yafia- il 4251 20,000.0 20,000.0 -
a=N&=vail
3. "33y T3A3MuY»Ac 148,600.0 8,600.0 140,000.0
E303NA383A31Y»AC NCUY3YARAE - 46U 46
a3N83vaoU
- P»YU»AC " T2é40l6Y»AC AYAS6CT Yana- ai0 4251 8,600.0 8,600.0 -
a=N&=vail
- b»YO»AC  RCYADAIAGYY»AC TSACTSE T»A3YaR4-4iU | 5113 120,000.0 - 120,000.0
- 2 U»U»Y3Y»A " 63AUS TarasUY»A 5129 20,000.0 - 20,000.0
4. Puqldwplwluwpwl 26Gp6nph pupbiuwpqdwl 20,000.0 20,000.0 -
3F 3RE3T3Y0Y»A
- UntpuhnhwOtp ng wtunwywa (ng hwduwyGpwihl) ng 4521 20,000.0 20,000.0 -
YCY3YE3T3Y T340 T»AA40AIA0Y Y»ACY

2800/08| 0 | O p=20v£eT, @p2TaolA @i Taau 41,149.8 41,149.8 -
31 ATa0

281008 | 1 | O |A3Y-&uC ~ 84ATC I36340AI46YY»HA 5,638.7 5,638.7 -
&RCo

2811/08| 1 | 1 |[D3Y-&WC ARG 1=63(40Al46YY»h 5,638.7 5,638.7 -
31 ATa0
1. 884AT3ICY UCca63645UY»iAC 5,638.7 5,638.7 -
13503 1»i&a0U0
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 5,638.7 5,638.7 -

2820|08 | 2 | O | @B3T46A3ICY [36346AI46YY»A 35,511.1 35,511.1 -
&RCo

2821|108 | 2 | 1 |AZ13A/A3YY»A 15,246.0 15,246.0 -
31 ATa0
1. TASI3[3YI(CY [363a0Ala0YY»i 15,246.0 15,246.0 -
- Untpuhnhwtn ng howluwywlb wyhnwywo 4511 15,246.0 15,246.0 -
(N=3U3YU=ICY) T3%UST»AAA0AIAY Y »ACY

282308 | 2 | 3 |Uwynyph wnlbp, wyniipltp, Yshuinpnbbtn 5,883.0 5,883.0 -
31 ATa0
1. D3U3Ya3IcY UBZTE0AC = 3331 ASU3Y6C 5,883.0 5,883.0 -
13503 1»i&a0U0
- Untpuhnhwtn ng howluwywb wyhnwywo 4511 5,883.0 5,883.0 -
(N=3U3{YU=ICY) T3%UST»AAA0AIAYY»ACY

2824108 | 2 | 4 |2l URSTAAZICY T3%UST»AA40AIAYY»A 14,382.1 14,382.1 -

ST
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hoswtu Gwb 2 = AVIZ(»VA

= = 3 =g U»YA

wm = 2| B2 pntobitnuyn dwiuubiph inGinbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt

LT 1363T3R-U3Y NALTSIV»AC 3YT3VaiUV»A £
1 |23 |4 5 6 7 8

1. DBRZTE0A3ICY UCcA63E6400Y»AC 14,382.1 14,382.1
CASI3Y3646U
- &siuG T eSAUSTARAUY»AC TROST3ta0AlasY 4216 2,400.0 2,400.0
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 11,982.1 11,982.1

2900/09| 0 | O ToAabAlaU 950,832.6 950,832.6
3 A1a0"

2910(09 | 1 | O |UBE3147/46313Y =~ T3AA3I3Y AYIN3Y 460 860,000.0 860,000.0
TAdaohiasy
&RCo

291109 | 1 | 1 |USE314/463T3Y TrA&sAlaY 860,000.0 860,000.0
3 A1a0"
1. USE318A406313Y 406406400 860,000.0 860,000.0
- Untpuhnhwtin ng howluwywlb wyhnwywo 4511 860,000.0 860,000.0
(N=3U3YU=ICY) T3%UST»AAA0AIAY Y »ACY

295009 | 5 | 0 |AéT UBI3A13TY»AC 41363130 140 90,832.6 90,832.6
TAdaohiasy
&RCo

295109 | 5 | 1 |2AT31A[463T3Y 136w C3A3TasAIAY 90,832.6 90,832.6
3 A1a0"
1. ZAT313A46313Y 1360 C3A31404/46Y 90,832.6 90,832.6
- Untpuhnhwtn ng howluwywlb wyhnwywo 4511 90,832.6 90,832.6
(N=3U3{YU=ICY) T3%UST»AAA0AIAYY»ACY

3000(10|0 | O €ao0k=2t2T20 a2pT1a=20a0AlacU 64,469.6 64,469.6
3 A1a0"

307010 | 7 | O | @46C3F313Y N3 1461 SATAYA0AI46YY»i (3IF 40,945.0 40,945.0
13»ACY 4831 T3Y40)
&RCo

3071|10| 7 | 1 |€46C3E3T3Y N3 Tadl SAwaYasAlasyy»n (3 40,945.0 40,945.0
13E»fCY 4830 T3Y40)
3 A1a0"
2. D3ASY3T 440Y»640 3Y03Y6 ~ 5,000.0 5,000.0
E40C338»6 3Y3E3NAT AYT3YCUY»AC
N3U37A Na603Aa1=314A40AI3Y 13303 1»>A8460
- Canhwlntp pGnyph w)p SwrwjnunLtGbEn 4239 5,000.0 5,000.0
3. B40C338»6 3Y3E3NAT AYT3YCUY»AcY 23,120.0 23,120.0
VAYSI3Y T NCB3U I Of»ACY S¢31640Al46Y
-D3TAT YAST3T3(CY 3 ViasA»h 4269 3,000.0 3,000.0
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 19,220.0 19,220.0
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= = 59 = pwdhGOtnh, fudptinh L nwutiph, hoswtu Gwb 2 = AVIZ(»VA

= = 3 =g U»YA

wm = 2| B2 pntobitnuyn dwiuubiph inGinbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt

LT 1353137 U3Y NALT3TV»AC SYT3YAUY»AA £
1 |23 |4 5 6 7 8 9

- W Guwuwnbbp pinuobihg 4729 900.0 900.0
4. E40C3E38x6 3Y3SE3N4T 3Y03Y6 12,825.0 12,825.0
Sc31640Ala6Y
-D3WAT YA 213(CY =3 VidsA»h 4269 1,825.0 1,825.0
- W Gwwuwnbbp pinuobihg 4729 5,000.0 5,000.0
- UTCA= TaoAlaoYY»ii 3l s=Nadld al»r=&y140 4819 6,000.0 6,000.0
T3UUST»AA4&0AIA0YY»ACY

309010 | 9 | O |846C3H313Y &30 A&3Y40Al46Y (3IF 23,524.6 23,524.6
136»fCY 4431 T=Y40)
&RCo

3091 10| 9 | 1 |846C3E3TY &3RTASYaiAlATY (S 13ex»ACY 23,524.6 23,524.6
A3TT=3Y40)
3 A1a0°
1. @46C3F313Y (- Ya0AIZY [3E3g6AIa6Y Y»AC 23,524.6 23,524.6

- A 140Y»a6AI3Y 13%0=1>n84i0

(B3TICA3IT31 FC3Y%ARA0AIZ6Y Y»h)
- 2RE=3T1A0Y»AC SRESTST3A0»A 4111 22,244.7 22,244.7
N3 T»E3 Tx3AY»A
- WY»A-»WCT 1263[a0AIa0YY»f 4212 581.2 581.2
- Tal&sY3t 1=363{a0AlasyY»h 4213 52.2 52.2
- T2AC 1363{a0AlasYY»h 4214 89.0 89.0
- @HU»YRY»AC 630 TafaiUY»A¢ AYA=46CT 4252 40.0 40.0
Yafia- 4ol ~ a=N&=Yail
- TASE»YI=T3ICY YidsA»A ~ N=- 406w 4261 191.5 191.5
- TASYEAAAT3ICY YiaoAx»f 4264 300.0 300.0
- T»Y6303(CY ~~ NSYASICY eYY1C YiadAxf 4267 26.0 26.0
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PD3IiI=IN7
of "3y (13030C 373 3Y40
2012 pywlywbh nbYwnbdptnh 25-h
N 558 -U anagu=3y
2046631 9

©5°120£ 2013 A12T2U£ ~Uateck 12842120 1 taU  2ULU @2é°8£0 D2TT120a00U°8A° AeT ~UateeT2ULU 12EE&°8
Tasize=2120 1 TUTee2£12120 _ 2621281020
Uad Uadg 12832120 pdx2UE g=2éai

(N=%=f 1A30Y»RAT)

= “laie»WS(CY TSES»AC -afl=63T3Y 136313703y | o 3 ATas0

Ol CL

Ez £|9 2 pwdhGOtnh, fudptinh L nwutph, hoswtu Gwb E. = AY2I30U»VA

o2 2 E ,:3 pinLpbnwihb dwiuutiph nbunbuwghunuwywl c = Junswywb pnigt | $nlnuyhl pyniet

LT 1353137 U3Y NALT3TY»AC SYT3YAUY»AA &
1 (2|34 5 6 7 8 9
AU _2@g°UA T12Eé°5s 2,510,097.7 2,339,855.7 170,242.0
2100/01|0 | O AU _ 20208 ~UastUAL b2Us20£0 442,089.3 433,089.3 9,000.0
T12&20asAlas0u°s

31 ATa0

2110|101 | 1 | O |dA»Yé1CA = -8AT31CA UBAUCYY»A, 430,334.2 423,334.2 7,000.0
A»T313Y I36373A40U, yCY3Ve313Y
hwpyuwpmpbuwnuyghl hwpwpbpnipniGGGp,
wnunwphl hwpwpbpnipiniGGGR
&RCo

211101 | 1 | 1 |Gfi»Y&1CA ™~ -afT=31Ci USAUCYY»ii, a»r3T3Y 430,334.2 423,334.2 7,000.0
136313400
31 ATa0
1. T3633A03Y U3A0YC 3NE3YaiU 430,334.2 423,334.2 7,000.0
- 2RE=3T1A0Y»AC SRESTST3A0»A 4111 326,508.0 326,508.0 -
N3 T»E3 Tx3AY»A
- a3 -3 URAUY»A, TABUSTIY ER3E4ieaiUY»A 4112 29,385.7 29,385.7 -
N=1aiT Tx3AY»f
- WY»A-»WCT 1263[a0AIa0YY»f 4212 19,000.0 19,000.0 -
- Tal&sY3t 1=363{a0AlasyY»h 4213 1,300.0 1,300.0 -
- T2AC 1363{a0AlasYY»h 4214 9,068.0 9,068.0 -
- 233Mar=-A3T3Y [2E6»h 4215 173.0 173.0 -
- 2iw=2e3(03Y(3Y - 4AT1ai040UY»AC - TaT TSEé»f 4222 2,000.0 2,000.0 -
- 1 3AEST3Y 13¢3[a0Ala0Y Y»h 4231 150.0 150.0 -
- DO TSTTST3Y 136340Ala0YY»h 4234 2,863.8 2,863.8 -
- U»AT=3[=6400a3T3Y 13Eé»i 4237 2,000.0 2,000.0 -
- @26V CU3T3Y 1363(40AIa5YY»h 4241 1,672.0 1,672.0 -
- DHU»YRY»AC 630 TafaiUY»A¢ AYA=46CT 4252 5,197.2 5,197.2 -
Yafia- 4ol ~ a=N&=Yail
- MA=E»YIST3ICY YiaoA»A ™ N=- 408w 4261 3,800.0 3,800.0 -
- TASYEAAAT3ICY YiaoAx»f 4264 14,766.5 14,766.5 -
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hoswtu Gwb 3 = AVIS(sYA

c = g 3 G Swfuubph LG Y = ” anwihG

wm = 2| E2 pinLetinwih( dwiuubiph tlinuwghunwywt c= Junswyw pnigl | dnlnwghl pynegt

LT 1363137-U3Y NAaLT3TY»AC SV T3YaiUY»AA &
1 (2|34 5 6 7 8

- T»Y6303(CY ~~ NS3YASICY eYY1C YiadAxf 4267 3,200.0 3,200.0 -
- A3A31CA Tx3AY»h 4823 250.0 250.0 -
- 2[f I=Eé»h 4861 2,000.0 2,000.0 -
- 13AE=T3Y 63A0=TaRa0UY»A 5122 6,000.0 - 6,000.0
- & YlaA=T3Y NCUY3T3Y UCcadY»f 5132 1,000.0 - 1,000.0

2130|01| 3 | O |LanhwGmp plGnyph SwruynipinlGaEGn 5,255.1 5,255.1 -
anco’

2131/01| 3| 1 UzrqunwL|wqdh /Yqwnpbnh/ génd pGnhwbnip panyph 5,255.1 5,255.1 -
1363[a0Ala5YY»fi
3 AT460"
1. 303036C313Y 13640A13Y STU»AC 5,255.1 5,255.1 -
-ASYOU3Y 36340413 - 4AI40Y»a0AI3Y
I=3pU=31»A8400 (A3 1 iCAZ1T=1
EC3YBAAAGAIAGY Y1)
- 2RE=3T1A0Y»AC SRESTST3A0»A 4111 4,473.6 4,473.6 -
N3 T»E3 Tx3AY»A
- WY»A-»WCT 1263[a0AIa0YY»f 4212 238.6 238.6 -
- Tal&sY=3t 1=363{a0AlasyY»h 4213 22.0 22.0 -
- T2AC 1363{a0AlasYY»h 4214 108.0 108.0 -
- @HU»YRY»AC 630 TafaiUY»A¢ AYA=46CT 4252 54.0 54.0 -
Yafia- 4ol ~ a=N&=Yail
- MA=E»YIST3ICY YiaoA»A —~ N=- 408w 4261 267.9 267.9 -
- T»Y6303(CY ~~ NSYASICY eYY1C YiadAxf 4267 81.9 81.9 -
- A3A31CA Tx3AY»h 4823 9.1 9.1 -

2150\ 01| 5 | O |Lanhwlnip plnyph hwlpuyhG 2,000.0 - 2,000.0
l3e3ﬂa0A//a0YY»nC T47 N» 133413137
YBE3. [3gY 3BE3T3YaY»iA
anco

2151|101 | 5 | 1 |RGnhwGnip pGnyeh hwipwihG swewjnteintbGEnph 2,000.0 - 2,000.0

-TAT N> 03BaT3T3Y ~ V3E=- [3(CY

SRE3T3Y0Y»i
3 ATas0
1. USBE3-[3cY SRE3T3Y0Y»h 2,000.0 - 2,000.0
- USE=- 1213 r3T3Y [SEex»i 5134 2,000.0 - 2,000.0

2160|01| 6 | O |L4anhwGnip pGniyph hwlpughG X 4,500.0 4,500.0 -
T36340AIa6Y Y»ii (3IF 136»ACY 4831 1T3Ya0)
anco

2161/01| 6 | 1 D[mhw[xmn pGniyph hwﬁnwjhﬁ SwrwjnLpNLObEn (wy 4,500.0 4,500.0 -
138»ACY 383 13Y40)
3 ATas0
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Ol CL

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hoswtu Gwb 2 = AVIZ(»VA

= = 3 =g U»YA

wm = 2| B2 pntobitnuyn dwiuubiph inGinbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt

LT 1353137 U3Y NALT3TV»AC SYT3YAUY»AA £
1 |23 |4 5 6 7 8

1. _ cUEsUY»A, N331¢0U800Y»A, 13 13A3YC 2,500.0 2,500.0 -
4AdBaGUY»AC ~ TxCEY»AC I»U i»A3uYYCE
YArewpbl pnnnplbp GapYuywiglthu
E3NUBY 31 ix30a00Y»0
- A3AT31CA Tx3AY»f 4823 2,500.0 2,500.0 -
2. Qnuyph Ghundwdp hpwyniGplGEnph 2,000.0 2,000.0 -
-ASYEU3Y, -YIN3TU3Y
T0» 13T T40AI3Y TA3U31A03Y N» T
I3&731 ix3A460Y»A
- A3AT31CA Tx3AY»f 4823 2,000.0 2,000.0 -

2200/02|0 | 0 a=2pt1a=20a0Alacu 2,000.0 2,000.0 -
31 ATa0

2250|102 | 5 | 0 |&3BWE3Ya0Al46Y (3IF 136»ACY 4831 1T3Ya0) 2,000.0 2,000.0 -
&RCo

2251|102 | 5 | 1 |43k wa3VaoAlasY (3 1=26»ACY 4831 1T=3Y40) 2,000.0 2,000.0 -
31 ATa0
1. %aA3184C 13BU3I»A803YY 3c31640A46Y 2,000.0 2,000.0 -
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 2,000.0 2,000.0 -

2400|040 | 0 TUTeE2T20 p252" 25a0A0a000°8 92,000.0 82,000.0 10,000.0
31 ATa0

2450|104 | 5 | 0 | TA=YéQ4AT 52,000.0 42,000.0 10,000.0
&RCo

2451|104 | 5 | 1 |O=Y=243AN3(CY wAi=Yeanr 42,000.0 42,000.0 -
31 ATa0
1. Uupuwywn-plivinlyw Swélh Ybpwlnpngnid 40,000.0 40,000.0 -
- &3NE3Y4iU
- P»YU»AC ~ T2é40l6Y»AC AYAS6CT Yana- ai0 4251 40,000.0 40,000.0 -
a=N&=vail
3. OUABUBA»AC I»ASYAAE - 46U 2,000.0 2,000.0 -
- b»YU»AC  T3640l6Y»AC AYAS36CT Yaria- il 4251 2,000.0 2,000.0 -
a=N&=vail

2455|04 | 5 | 5 |E&0AT3T3R3A3(CY ~ 3 wASYedanr 10,000.0 - 10,000.0
31 ATa0
1. F»»E3TY»AC NCUY3YAR4 - 46U 10,000.0 - 10,000.0
- 2[f U»U»Y3Y»fi ~ 63A0= TaR&0Y»h 5129 10,000.0 - 10,000.0

2490|04 | 9 | 0 | SGwnGuwlwl hwpwpbpnipnl GGG (wyy 40,000.0 40,000.0 -
13»ACY 44371 T3Y40)
&RCo
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- Canhwntp pGnyph w)p SwewjnunLtGbtEn 4239 40,000.0 40,000.0 -
2500/05| 0 | O pdx2T2 GE=21206k 42pTa20acAlasu 678,524.9 678,524.9 -
3 A1a0°
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2511 05| 1 | 1 |Unpwhwanti 547,524.9 547,524.9 -
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U=30A46U0
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2530/ 05| 3 | 0 |bAc3T=3 UCc3T3IA¢C 30TaTU3Y 10 &3I0=3A 1,000.0 1,000.0 -
£l
2531| 05| 3 | 1 |G2¢ 30WAWU3Y 1»0 33 1,000.0 1,000.0 -
3 A1a0"
1. I» U »AC Na6Y»A¢ U3uAdil 1,000.0 1,000.0 -
- Tal&sY3t 1=363{a0AlasyY»h 4213 1,000.0 1,000.0 -
2560|05 | 6 | 0 | PAc3TI3 UCc3T3IAC &33BT E&3Ya0Al4sY (3 130,000.0 130,000.0 -
136»fiCY 4431 T=Y40)
£l
2561|05| 6 | 1 |PAcZT= UCc3T3IAC AR W ASYA0AIAY (3 13é»ACY 130,000.0 130,000.0 -
A3TT=3Y40)
3 A1a0"
1. T3Y34 T3A310Y»AC NCUYAdU 130,000.0 130,000.0 -
83N&3v4a0U
- Tal&sY=3t 1=363{a0AlasyY»h 4213 130,000.0 130,000.0 -
2600/06| 0 | O “02T282020£U pEU2628a0A0a00 ©1 153,085.0 41,000.0 112,085.0
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3 A1a0"
261006 | 1 | O | “YSISAIY3CY BCY3ASAA0AIATY 1,000.0 1,000.0 -
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266006 | 6 | 0 | “YSI3A3Y3CY BCY3AZAE0AIZY ~ 14040Y3¢ 152,085.0 40,000.0 112,085.0
T36340AIa6YY»i (3l 13é»ACY 4831T3Y40)
&RCo

2661|06 | 6 | 1 |~ YST3A3Y3(CY RCYSASAAAISY * TaUAYSE 152,085.0 40,000.0 112,085.0
1=2¢3a0AlasYY»A (3l 13é»ACY 3831 1T3Y40)
31 ATa0
1. Pwquiwplwluwpw 264GpGph hwnp 10,000.0 10,000.0 -
T3YCUY»AC I»A3YaAa- 46U
-D3WAT YA 213(CY 3/ VidsA»h 4269 10,000.0 10,000.0 -
2. Pwquduwplwluwpuwl 26GpGph plip 3,500.0 3,500.0 -
T3YCUY»AC I»A3Y4Aa- 46U
-D3WAT YA 213(CY =3/ VidsA»h 4269 3,500.0 3,500.0 -
3. “3I3icY T3A3IuY»Ac 116,085.0 5,000.0 111,085.0
E303NA383A31Y»A¢ NCUY3Yaia - 460 46
a3N83vaoU
- P»YU»AC ~ T=é40l6Y»AC AYAS6CT Yana- &i0 4251 5,000.0 5,000.0 -
a=N&=vail
- P»YU»AC * RCYADAIAGYY»AC T3é40040U 5112 66,685.0 - 66,685.0
- b»YU»AC " RCYADAIAGYY»AC TSACTSE I»A3YaR4-4iU | 5113 30,000.0 - 30,000.0
- 2[f U»U»Y3Y»fi ~ 63A0= TaR&0Y»h 5129 14,400.0 - 14,400.0
4. Puqldwplwluwpwl 26Gp6ph pupbiuwpqdwl 22,500.0 21,500.0 1,000.0
3F 3RE3T3Y0Y»hA
- P»YU»AC ~ T=é40l6Y»AC AYAS6CT Yana- ai0 4251 15,000.0 15,000.0 -
a=N&=vail
-D3WAT YA 213(CY =3/ VidsA»h 4269 6,500.0 6,500.0 -
- b»YU»AC * RCYADAIAGYY»AC TSACTSE T»A3YaRa-4iU | 5113 1,000.0 - 1,000.0

2800/08| 0 | O p=20v£eT, Zp2TaolA @i Taau 106,232.9 67,075.9 39,157.0
31 ATa0

2810|108 | 1 | 0 |P=3Y-67C ~6R4ATC I36340AIA5Y Y»ii 42,157.0 3,000.0 39,157.0
&RCo

2811|108 | 1 | 1 |[D3Y-&WC ARG 1=63(40Al46YY»h 42,157.0 3,000.0 39,157.0
31 ATa0
1. 884AT3ICY UCcda63645UY»iAC 3,000.0 3,000.0 -
I33U31»&400
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 3,000.0 3,000.0 -
2. <wlquunh gnunhllbiph b gpnuuyghlbbiph 39,157.0 - 39,157.0
136466400 46 E3NA3YAiU
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2820|108 | 2 | 0 |@B3T140A3ICY 363404146V Y»i 64,075.9 64,075.9 -
&RCo

2821|08 | 2 | 1 |TIASLI3AZYY»f 25,590.9 25,590.9 -
31 ATa0
1. TASI3[3Y3(CY [363a0Ala0YY»i 25,590.9 25,590.9 -
-NUn}pqhnth({br]_nz jgh(_JEuUqu}yU gquu.gl.{uj[x 4511 25,590.9 25,590.9 -
(R3USYU=ICY) TS T»AAAAIAYY»ACY

282308 | 2 | 3 |Uwynyph wnlbp, wyniiplbtp, Yshuinpnbben 21,485.0 21,485.0 -
31 ATa0
1. D3U3Ya3IcY UBZTE0AC = 3331 ASU3Y6C 21,485.0 21,485.0 -
I33U31»i&400
-NUn}pqhnth({br]_nz jgh(_JEuUqu}yU gquu.gl.{uj[x 4511 21,485.0 21,485.0 -
(RSUSYU=ICY) TS T»AAAAIAYY»ACY

282408 | 2 | 4 |2k URSTAAZICY T3S T»AAAAIATYY» A 17,000.0 17,000.0 -
31 ATa0
1. DBRZTE0A3ICY UCca63E400Y»AC 17,000.0 17,000.0 -
CASI3Y3646U
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 17,000.0 17,000.0 -

2900/09| 0 | O ToAabAlaU 978,635.3 978,635.3 -
31 ATa0

2910(09 | 1 | O |UBE3147/46313Y =~ T3AA3I3Y AYIN3Y 460 800,000.0 800,000.0 -
TAdaohiasy
&RCo

2911/ 09| 1 | 1 |USE=313/463T3Y TrA&sAlaY 800,000.0 800,000.0 -
31 ATa0
1. USE318A406313Y 406406400 800,000.0 800,000.0 -
- Untpupnhw(tn ng phiwbuwyul whnwywl 4511 800,000.0 800,000.0 -
(RSUSYU=ICY) TS T»RAAAIAYY»ACY

2950( 09 | 5 | 0 |A87 UBTI3A131Y»AC 41363131 740 173,635.3 173,635.3 -
TAdaohiasy
&RCo

2951|109 | 5 | 1 [2AW31AA463T3Y 136 WC3A3TasAlasY 173,635.3 173,635.3 -
31 ATa0
1. 2ZAT318A46313Y 1367 C3A=3140Ala0Y 173,635.3 173,635.3 -
- Untpupnhw(tn ng $hiwbuwyul whnwyuwl 4511 173,635.3 173,635.3 -
(R=3USYU=ICY) TS T»AAAAIAYY»ACY
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2961/ 09 | 6 | 1 | TAA&AISYA WA=U31AT40 0A=Y13T 1=2¢3(40Ala0YY»A 5,000.0 5,000.0
31 ATa0
1. UBE3183A46313Y N36 31 40AI46YY»AC 5,000.0 5,000.0
NCUY3Yah4 - 460 "~ i»A3YAana - 460
- P»YU»AC ~ T2é40l6Y»AC AYAS6CT Yana- ai0 4251 5,000.0 5,000.0
a=N&=vail

3000(10|0 | O €ao0k=2t2T20 a42pT1a=20a0AlacU 57,530.3 57,530.3
31 ATa0

307010 | 7 | O | @46C3F313Y N3 16T SATAYA0AI46YY»i (3IE 36,275.0 36,275.0
136»fiCY 4831 T=Y40)
&RCo

3071|10| 7 | 1 |€46C3E3T3Y N3 Tail SAwaYaoAlasyy»h (3 36,275.0 36,275.0
13¢»ACY 383 T3Y40)
31 ATa0
1. 840C338»6 3Y3E3NAT AYT3YCUY»C 1,000.0 1,000.0
»A»E3Y»AC N3Y - 6 1C I33U31»A&4o0
- asiuC T eSAUBTARAUY»AC TSROST3ta0AlasY 4216 1,000.0 1,000.0
2. D3A3Y37 446Y»640 3Y03Y6 2,500.0 2,500.0
E40C3E3826 3Y3E3NAT AYT3YCuY»ic
N3U3A Na603AT1=314A40AI3Y 13303 1»>A8460
- Canhwntp pOnyph w)p SwrwjnunLGbEn 4239 2,500.0 2,500.0
3. B40C338»6 3Y3E3NAT AYT3YCUY»AcY 18,775.0 18,775.0
VAYSI3Y T NCB3 U SIC Ofi»ACY S¢31640Al46Y
- &iNC T eSAUSTARAUY»AC T3ROST3ta0AlasY 4216 500.0 500.0
- D3TAT YAST3T2CY 3t ViasA»h 4269 3,575.0 3,575.0
- 2[f AYA=6CT 1A=U=3/YAANY»f 4639 10,800.0 10,800.0
- W Guwuwnbbp pinuobihg 4729 3,900.0 3,900.0
4. E40C3E3Ex6 3Y3E3N4T 3Y03Y6 14,000.0 14,000.0

c31640Ala6Y

- 2[f AYA=6CT 1A=U=3/YAANY»f 4639 8,000.0 8,000.0
- UTCA=w Ta0Ala0Y Y»i =i R=Radl al»w=&v140 4819 6,000.0 6,000.0
T3UUST»AA4&0AIAYY»ACY

309010 | 9 | O |846C3H313Y &30 A&3Y40Al46Y (3IF 21,255.3 21,255.3
13»ACY 48371 T3Y40)
&RCo

3091 10| 9 | 1 |846C3E3TY &3 ASYaiAlasY (Sl 13e»ACY 21,255.3 21,255.3

i&=r1=Y40)

=t ATai0

107




- |4l o “laie»>WSCY TSES»AC - afl=63T3Y 136313703y | 3 ATas0

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hoswtu Gwb _ﬂ = AVISU»YA

w2 3| 2 pntobitnuyn dwiuubiph inGinbuwghnwywt E = Jwnswywl pnigt | nlnuyhl pynigt

LT 1363T3R-U3Y NALTSIV»AC 3YT3VaiUV»A £
1 |23 |4 5 6 7 8 9
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- A 140Y»a6AI3Y 1330318400

(BT ICAZTT3I EC3%a040AI40YY»1i)
- 2RE=3T1A0Y»AC SRESTST3A0»A 4111 20,112.4 20,112.4
N3 T»E3 Tx3AY»A
- @HU»YRY»AC  63A0= TafailY»A¢ AYA=46CT 4252 95.0 95.0
Yana-ail - a3Na=vail
- TASE»YI=T3ICY YidsA»A -~ N=- 456w 4261 557.4 557.4
- TASYEAAAT3ICY YiaoA»f 4264 490.5 490.5
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31 ATa0
1. T3633A03Y U3A0YC 3NE3YaiU 170,951.5 169,091.5 1,860.0
- 2RE=3T1A0Y»AC SRESTST3A0»A 4111 132,626.0 132,626.0 -
N3 T»E3 Tx3AY»A
- a3 =RalY»h, 1ASUST3Y EASE4aieaiUY»h 4112 15,636.3 15,636.3 -
N=1aiT Tx3AY»f
- WY»A-»WCT 1263[a0AIa0YY»f 4212 2,990.6 2,990.6 -
- Tal&sY3t 1=363{a0AlasyY»h 4213 120.0 120.0 -
- T2AC 1363{a0AlasYY»h 4214 3,528.0 3,528.0 -
- 233Mar=-A3T3Y [2E6»h 4215 120.0 120.0 -
- 2iw=2e3(03Y(3Y - 4AT1ai040UY»AC - TaT TSEé»f 4222 1,000.0 1,000.0 -
- 1 3AEST3Y 13¢3[a0Ala0Y Y»h 4231 262.5 262.5 -
- DO TITTST3Y 1363[40AlaYY»A 4234 366.0 366.0 -
- U»AT=3[=6400a3T3Y 13Eé»i 4237 1,763.9 1,763.9 -
- @36Y=3-Cw3T3Y 13¢3[40Ala0YY»h 4241 96.9 96.9 -
- DHU»YRY»AC 630 TafaiUY»A¢ AYA=46CT 4252 2,205.0 2,205.0 -
Yafia- 4ol ~ a=N&=Yail
- TASE»YI=T3ICY YidsA»A ~ N=- 456w 4261 1,487.8 1,487.8 -
- TASYEAAAT3ICY YiaoAx»f 4264 5,580.5 5,580.5 -
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2151101 | 5 | 1 |COnhwGnip pOnyeh hwOpwhG Swewjnuentbbtinh 500.0 - 500.0
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1. _ cUE6UY»A, N3g31¢0U800Y»A, 13 1T3A3YC 650.0 650.0 -
4AdBaGUY»AC " TxCEY»AC I»U i»A3uYYCE
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E3NUBY I3 ix30400Y»0
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- A3AT31CA Tx3AY»f 4823 150.0 150.0 -
2200/02|0 | 0 a=2pt1a=20a0Alacu 1,000.0 1,000.0 -
31 ATa0
2250(02 | 5 | 0 |&3BU&3YadAla6Y (3IF 136»ACY 4831 T13Y40) 1,000.0 1,000.0 -
&RCo
2251|102 | 5 | 1 |a3pwa=3YasAlay (3E 13e»iCY 433w T3Y40) 1,000.0 1,000.0 -
31 ATa0
1. %aA3184C I3BU3I»A8U3YY Sc31040AI46Y 1,000.0 1,000.0 -
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3 A1a0"
1. USE318A406313Y 406406400 35,000.0 35,000.0 -
- Untpuhnhwtn ng howluwywlb wyhnwywo 4511 35,000.0 35,000.0 -
(N=3U3YU=ICY) T3%UST»AAA0AIAY Y »ACY
2. UBE315746313Y 40640603y 5,000.0 - 5,000.0
I3BU3T>A803Y N303A 3YNA3A»BT - 46/uC
dbrp pGpnid
- Z[E U»U»Y3Y»ii ~ 63A03 TafaiUY»h 5129 5,000.0 - 5,000.0

2950| 09 | 5 | 0 |A87 UBTI3A131Y»AC 41363131 - 740 35,909.5 35,909.5 -
TAA46Al46Y
&RCo

295109 | 5 | 1 |2AT31A/463T3Y 136w C3A3TasAlasY 35,909.5 35,909.5 -
3 A1a0"
1. 2AT318A46313Y 136 7 C3A3140Al46Y 35,909.5 35,909.5 -
- Untpuhnhwtn ng howluwywb wyhnwywo 4511 35,909.5 35,909.5 -
(N=3U3YU=ICY) T3%UST»AAA0AIAY Y »ACY

3000(10|0 | O €ao0k=2t2T20 a42pT14a=20a0A0a0U 10,458.4 10,458.4 -
3 A1a0"

307010 | 7 | O | @46C3F313Y N3 1461 SATAYA0AI46YY»i (3IF 3,900.0 3,900.0 -
13»ACY 48371 T3Y40)
&RCo

307110 | 7 | 1 |846C3E3T=3Y N3 AT SATAYAiAlasYY»A (3lF 3,900.0 3,900.0 -
13¢»ACY 383 T3Y40)
3 A1a0"
1. B46C3E38»6 3Y3E3NAT AYT3YCUY»AC 200.0 200.0 -
»A»E3Y»AC N3Y - 6 1C I33U31»A&460
- &iUC T eSAUBTARAUY»AC T3ROST3ta0AlasY 4216 200.0 200.0 -
2. D3A3Y37 446Y»640 3Y03Y6 400.0 400.0 -
B40C3F38»8 3Y383NAT AYT3YCuY»AC
N3U3i Na603AT13T4AA6AIZY 13303 T»A846U
- Canhwlntp pGnyph w)p SwrwjnunLtGbEn 4239 400.0 400.0 -
3. B40C338»6 3Y3E3NAT AYT3YCUY»AcY 1,700.0 1,700.0 -
VAYSI3Y T NCB3U I Of»ACY S¢31640Al46Y
-D3WAT YA 213(CY =3/ VidsA»h 4269 400.0 400.0 -
- 2[t AYA=6CT 1ASUSRYARNY»A 4639 1,300.0 1,300.0 -
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c316404146Y
- 2[f AYA=6CT 1A=U=3RYAANY»f 4639 1,600.0 1,600.0
309010 | 9 | O |846C3H313Y &30 A&3Y40Al46Y (3IF 6,558.4 6,558.4
13»ACY 48371 T3Y40)
El(00)
3091 10| 9 | 1 |846C3E3TY &3 ASVaiAlasY (S 13ex»ACY 6,558.4 6,558.4
A3TT=3Y40)
3 Ara0
1. 46C3F313Y (- Ya0AIZY [3E3a0AIa6Y Y»AC 6,558.4 6,558.4
- A T40Y»a6AI3Y 1350318400
(B3TICABIT31 FC3Y%ARA0AIZ6YY»h)
- 2RE=3T1A0Y»AC SRESTST3A0»A 4111 6,239.6 6,239.6
N3 T»E3 Tx3AY»A
- WY»A-»WCT 1263[a0AIa6YY»f 4212 171.4 171.4
- Talaoyt 1=3¢3(asAlasyV» 4213 69.8 69.8
- MA=E»YIST3ICY YiaoA»A —~ N=- 408w 4261 77.6 77.6
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2100|010 | 0 AU _p=20as6 ~UasUALE p20s20£0 420,444.4 414,593.4 5,851.0
T12&20asAlas0u°s

31 ATa0

2110|101 | 1 | O |dA»Yé1CA = -8AT31CA UBAUCYY»A, 408,189.3 405,338.3 2,851.0
A»T313Y I36373A40U, yCY3Ve313Y
hwpyuwpmpbuwnuyghl hwpwpbpnipniGGGp,
wnunwphl hwpwpbpnipiniGGGR
&RCo

211101 | 1 | 1 |Gfi»Y&1CA ™~ -afT=31Ci USAUCYY»ii, a»r3T3Y 408,189.3 405,338.3 2,851.0
136313400
31 ATa0
1. T3633A03Y U3A0YC 3NE3YaiU 408,189.3 405,338.3 2,851.0
- 2RE3TA0Y»AC SRES TS T30 4111 290,836.0 290,836.0 -
N3 T»E3 Tx3AY»A
- a3 =RalY»h, 1ASUST3Y EASE4aieaiUY»h 4112 55,036.7 55,036.7 -
N=1aiT Tx3AY»f
- WY»A-»WCT 1263[a0AIa0YY»f 4212 8,914.7 8,914.7 -
- Tal&sY3t 1=363{a0AlasyY»h 4213 1,100.0 1,100.0 -
- T2AC 1363{a0AlasYY»h 4214 8,986.6 8,986.6 -
- 233Mar=-A3T3Y [2E6»h 4215 346.0 346.0 -
- 2iw=2e3(03Y(3Y - 4AT1ai040UY»AC - TaT TSEé»f 4222 1,000.0 1,000.0 -
- D2U=T30-a3ICY 13¢3[a0AlasYY»h 4232 370.0 370.0 -
- DO TSTTST3Y 136340Ala0YY»h 4234 858.7 858.7 -
- U»AT=3[=6400a3T3Y 13Eé»i 4237 2,000.0 2,000.0 -
- Canhwlntp pOnyph w)p SwrwjnunLtGbtEn 4239 1,000.0 1,000.0 -
- @26V CU3T3Y 1363(40AIa5YY»h 4241 500.0 500.0 -
- DHU»YRY»AC 630 TafaiUY»A¢ AYA=46CT 4252 5,892.1 5,892.1 -
Yafia- 4ol ~ a=N&=Yail
- MA=E»YIST3ICY YiaoA»A —~ N=- 408w 4261 5,000.0 5,000.0 -
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N3 T»E3 Tx3AY»A
- WY»A-»WCT 1263[a0AIa0YY»f 4212 343.2 343.2 -
- Tal&sY=3t 1=363{a0AlasyY»h 4213 10.0 10.0 -
- T2AC 1363{a0AlasYY»h 4214 108.0 108.0 -
- TASe»YI=T3ICY YidsA»A ~ N=- 456w 4261 100.0 100.0 -
- A3AT31CA Tx3AY»f 4823 9.1 9.1 -

2150|01 | 5 | O |L4anhwGnip pGnyph hwGpughG 3,000.0 - 3,000.0
T36340AIa6YY»AC - IAT N» T3%41313Y
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SREST3YUY»A
31 ATa0
1. USBE3-[3cY SRE3T13Y0Y»i 3,000.0 - 3,000.0
- USE=- 1213 r3T3Y [SEex»i 5134 3,000.0 - 3,000.0

2160|01| 6 | O |L4anhwGnip pGniyph hwlpughG X 4,000.0 4,000.0 -
T36340AIa6Y Y»ii (3IF 136»ACY 4831 1T3Ya0)
&RCo

2161|01| 6 | 1 |COnhwOntp pUnyph hwapwihb SwrewjniNLGbtn (wy| 4,000.0 4,000.0 -
138»ACY 383 13Y40)
31 ATa0
1. _ cUEsUY»A, N3g31¢0U400Y»A, 13 1T3A3YC 2,000.0 2,000.0 -
4AdBaGUY»AC " TxCEY»AC I»U i»A3uYYCE
YArewpbl pnnnplbp GapYuywiglthu
E3NUBY I3 ix30400Y»0
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2. Qnuyph Ghuindwdp hpwyniGplGEnph 2,000.0 2,000.0
-ASYEU3Y, -YINITU3Y
T0» 13T T40AI3Y TA3U31A03Y N» T
I3&731 ix3A460Y»A
- A3AT31CA Tx3AY»f 4823 2,000.0 2,000.0

2200/02|0 | 0 a=2pt1a=20a0Alacu 2,000.0 2,000.0
3 A1a0"

2250|102 | 5 | 0 |&3BWE3Ya0Al46Y (3IF 136»ACY 4431 1T3Ya0) 2,000.0 2,000.0
&RCo

2251|102 | 5 | 1 |43k waA3VaoAlasY (3 1=26»ACY 4831 1T=3Y40) 2,000.0 2,000.0
3 A1a0"
1. %aA3134C 13BU3I»A803YY 3c31640A46Y 2,000.0 2,000.0
- 2[f AYA=6CT 1A=U=3/YAANY»f 4639 2,000.0 2,000.0

2400|040 | 0 TUTeE2T20 p252" 25a0A0a000°8 42,338.5 42,338.5
3 A1a0"

245004 | 5 | 0 | TA3YE&4AT 21,000.0 21,000.0
&RCo

2451|104 | 5 | 1 |O=Y=243AN3(CY wAi=Yean T 21,000.0 21,000.0
3 A1a0"
1. Uupuwywn-plivinlyw Swélh Ybpwlnpngnid 21,000.0 21,000.0
- &3NE3YaiU
- P»YU»AC ~ T=é40l6Y»AC AYAS6CT Yana- ai0 4251 21,000.0 21,000.0
a=N&=vail

2490|04 | 9 | 0 | SGwnbGuwlwl hwpwpbpnipinl GGG (wyy 21,338.5 21,338.5
13»ACY 48371 T3Y40)
&RCo

2491|104 | 9 | 1 |SGnbuwywb hwpwptpnepntGbtn (wy nwubnhl 21,338.5 21,338.5
A3TT=3Y40)
3 A1a0"
9. A3AW3ICA Fx3AY»AC - 3YOU3Y 21,338.5 21,338.5
I363J46A146YY»hA
- UTCA=T TasAlasyY»i 3l s=fasld al>r=av1ad 4819 21,338.5 21,338.5
T3UUST»AA4&0AIAYY»ACY

2500/05| 0 | O pdx2T2 GE=21206k 42pTa20acAlasu 598,246.3 598,246.3
3 A1a0"

2510|105 | 1 | O |Unpwhwbnid 462,039.8 462,039.8
&RCo
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3 ATasu
1. Unpwhwlnipint G L uwGhunwpwlywl 462,039.8 462,039.8 -
U=30A46u
- TaUasY3t 1=3é6=3(a0AlasYY»f 4213 462,039.8 462,039.8 -

2530/ 05| 3 | 0 |bAc3T=3 UCc3T3IA¢ 30Ta7U3Y 10 &3I03A 5,000.0 5,000.0 -
Eli[el)

2531 05| 3 | 1 |G2C 30MawU3Y 10 &3U=h 5,000.0 5,000.0 -
3 ATas0
1. I» U »AC Na6Y»A¢ U3uAdil 5,000.0 5,000.0 -
- TaUasY3t 1=36=3(a0AlasYY»f 4213 5,000.0 5,000.0 -

2560| 05| 6 | 0 | PAC3T3 UCc3T3IAC &33BT A&3YAdAla6Y (3IF 131,206.5 131,206.5 -
13»ACY 44371 T3Y40)
Eli[el)

2561| 05| 6 | 1 |PAcZT=3 UCc3T3IAC A3RTASYAAIAY (3iE 138»fCY 131,206.5 131,206.5 -
&3 T=3Y40)
3 ATas0
1. T3Y34 3A310Y»AC NCUY&6U ~~ 125,000.0 125,000.0 -
a3NE3va00
- TaUasY3t 1=36=3(a0AlasYY»h 4213 125,000.0 125,000.0 -
2. ZET3N3YU3Y ~ UCc3T3»AlUu3yY 5,000.0 5,000.0 -
I 36340440V Y»ii /1»63 0 CH36C3
- TaUasY3t 1=36=3(a0AlasYY»f 4213 5,000.0 5,000.0 -
3. P3E3A3I3I3Y 346 - BA3YY»AC 1,206.5 1,206.5 -
&3NE3Y40U ~~ i»A3YAana - 46U
- TaUasY3t 1=36=3(a0AlasYY»f 4213 1,206.5 1,206.5 -

2600(06| 0 | O 0212620200 pEU2828a0AUa0U ©1 172,500.0 52,000.0 120,500.0

Tagaol=2t 12é&20a0A0as00°s

3 ATasu

261006 | 1 | O | “YSISAIY3CY BCY3ASAA0AIAY 2,000.0 2,000.0 -
Eli[el)

2611|106 | 1 | 1 |7 YST3A3Y3ICY RCYSA=haoAlasy 2,000.0 2,000.0 -
3 ATas0
1. EYQY313U 1364006 Y»AC u3Y146U 2,000.0 2,000.0 -
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- b»YO»AC " RCYADAIAGYY»AC TSACTSE T»A3YaR4-4iU | 5113 5,500.0 - 5,500.0

2660|06 | 6 | O | “YIISAIYIICY BCYS3A3[46AI3Y ~ 14046V 3F 165,000.0 50,000.0 115,000.0
T36340AIa6YY»i (3l 13é»ACY 4831T3Y40)
&RCo

2661|06 | 6 | 1 |~ YST3A3Y3(CY RCYSASAAAISY * TaUAYSE 165,000.0 50,000.0 115,000.0
1=2¢3a0AlasYY»A (3l 13eé»ACY 3831 T3Y40)
3 A1a0°
1. Pwquiwplwluwpw 264GpGph hwnp 10,000.0 10,000.0 -
T3YCUY»AC I»A3YaAa- 46U
- P»YU»AC " T2é40l6Y»AC AYAS6CT Yana- ai0 4251 10,000.0 10,000.0 -
a=N&=vail
2. Pwquduwplwluwpuwl 26GpGph plip 20,000.0 20,000.0 -
T3YCUY»AC I»A3Y4Aa- 46U
-D3TAT YAST3T3(CY 3 ViasA»h 4269 20,000.0 20,000.0 -
3. “3I3icY TBA3IuY»Ac 120,000.0 5,000.0 115,000.0
E303NA383A31Y»A¢ NCUY3Yaia - 460 46
a3N83vaoU
- P»YU»AC ~ T=é40l6Y»AC AYAS6CT Yana- &i0 4251 5,000.0 5,000.0 -
a=N&=vail
- b»YU»AC * RCYADAIAGYY»AC TSACTSE T»A3YaR4-4iU | 5113 110,000.0 - 110,000.0
- 2 U»U»Y3Y»h -~ 63AUS TaRasUY»A 5129 5,000.0 - 5,000.0
4. Puqldwplwluwpwl 26Gp6nph pupbiuwpqdwl 15,000.0 15,000.0 -
3F SRE3T3Y0Y»hA
- P»YU»AC ~ T2é40l6Y»AC AYAS6CT Yana- ai0 4251 15,000.0 15,000.0 -
a=N&=vail

2800/08| 0 | O p=20v£eT, @p2TaolA @i Taau 75,578.3 75,578.3 -
3 A1a0"

281008 | 1 | O |A3Y-&uC ~ 84ATC I36340AI46YY»HA 3,000.0 3,000.0 -
&RCo

2811|108 | 1 | 1 |[D3Y-&WC ARG 1=63(40Al46YY»h 3,000.0 3,000.0 -
3 A1a0"
1. 68411 3ICY UCca63640UY»AC 3,000.0 3,000.0 -
13503 1»i&a0U0
- 2[f AYA=6CT 1A=U3RYAANY»f 4639 3,000.0 3,000.0 -

2820|108 | 2 | 0 |@B3T40A3ICY 36340446V Y»i 72,578.3 72,578.3 -
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282308 | 2 | 3 |Uwynyph wnbbp, wyniipltp, Yshuinpnbbtn 19,725.1 19,725.1
3 ATasu
1. D3U3Ya3IcY UBZTE0AC = 3331 ASU3Y6C 19,725.1 19,725.1
I'33031»A846U
-NUn}pqhnth({br]_nz jgh(_JEuUqu}yU gquu.gl.{uj[x 4511 19,725.1 19,725.1
(N=3U3YU=ICY) T3%UST»AAA0AIAYY»ACY

2824108 | 2 | 4 |2l URSTAAZICY T3%UST»AA40AIAYY»A 28,500.0 28,500.0
3 ATas0
1. PB3T40A3ICY UCcad3640UY»AC 28,500.0 28,500.0
CASI3Y3646U
- 2t AYA=6CT 1A303/YaANY»A 4639 28,500.0 28,500.0

2900(09| 0 | O ToAabAlaU 944,059.3 944,059.3
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2910(09 | 1 | 0 |UBE318A46313Y =~ 1T 3AAZ13Y AYIN3Y46A 740,000.0 740,000.0
TAA&0AIa6Y
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2950|109 | 5 | 0 |AéT UBI3A131Y»A¢ 41363130 - 740 200,235.9 200,235.9
TAA&0AIa6Y
anco’

295109 | 5 | 1 |2AT31A/463T3Y 136w C3A3TasAlasY 200,235.9 200,235.9
3 ATas0
1. 2ZAT318A46313Y 1367 C3A=3140Ala0Y 200,235.9 200,235.9
- Untpupnhw(tn ng phiwbuwyul whnwluwl 4511 200,235.9 200,235.9
(N=3U3{YU=ICY) T3%UST»AAA0AIAYY»ACY

2960|109 | 6 | 0 | TAA40AIZYA TASU32AT40 0A=3Y13T 3,823.4 3,823.4
363404146V Y»A
anco’
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2961/ 09| 6 | 1 |TAA&AIBYA WA=U=31AT40 0A3Y13T 1=363(40A146YY»h 3,823.4 3,823.4
31 ATa0
1. UBE318A46313Y N3 731 40AI46Y Y»AC 3,823.4 3,823.4
NCUY3Yafa4 - 460 ~ i»A3YAana - 460
- P»YU»AC ~ T2é40l6Y»AC AYAS6CT Yana- &i0 4251 3,823.4 3,823.4
a=N&=vail

3000(10|0 | O €a0k=2t2T20 a42pT14a=20a0Ala0U 46,181.3 46,181.3
31 ATa0

3070(10 | 7 | O | @46C3¢3T13Y N37ail SATAY40AI40YY»A (SIE 24,920.0 24,920.0
136»ACY 443T1T3Y40)
&RCo

3071|10| 7 | 1 |€46C3E3T3Y N3 Tail SAwaYaoAlasyy»n (3 24,920.0 24,920.0
13¢»ACY 383 T3Y40)
31 ATa0
1. 406C3F38»6 3Y3E3NAT AYT3YCUY»AC 1,000.0 1,000.0
»A»E3Y»AC N3Y - 6 1C I33U31»A&4o0
- &siuC T eSAUSTARAUY»AC TROST3ta0AlasY 4216 1,000.0 1,000.0
2. D3ASY3T 440Y»640 3Y03Y6 ~ 3,500.0 3,500.0
E40C3E3426 3Y3E3NAT AYT3YCuY»ic
N3U37A Na603Aa1=314A40AI3Y 13303 1»>A8400
- Canhwlnip pGnyph w)p SwrwjnunLtGbEn 4239 3,500.0 3,500.0
3. B40C33E»6 BYIAINAT AYT3YCUY»ACY 10,420.0 10,420.0
VAYSI3Y T NCB3U I Of»ACY S¢31640Al46Y
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 6,500.0 6,500.0
- W Guwuwnbbp pinuobihg 4729 3,920.0 3,920.0
4. 84033876 3YS43NAT 3Y03Yo 10,000.0 10,000.0
Sc31640Ala6Y
- W Guwuwnbbp pinuobihg 4729 5,000.0 5,000.0
- UTCAS T Ta0Ala0Y V> 3(E s=NadlA al»w=&v140 4819 5,000.0 5,000.0
T3UUST»AA4&0AIAYY»ACY

309010 | 9 | O |846C3H313Y &30 A&3Y40Al46Y (3IF 21,261.3 21,261.3
136»ACY 443T1T3Y40)
&RCo

3091|10| 9 | 1 |€A6C3EZT3Y &SR W ASYaiAlasY (S 1=3e»ACY 21,261.3 21,261.3
4A3T1=2Y40)
31 ATa0
1. @46C3F313Y (- Ya0AIZY [3E3g0AIA6Y Y»AC 21,261.3 21,261.3

- 4AT40Y»46AI3Y 133031»A8400

(BT ICAZTT3I EC34%aN40AI40YY»1i)
- 2RE=3T1A0Y»AC SRESTST3A0»A 4111 20,1125 20,1125

NS T»E3Tx3AY»i
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1 |23 |4 5 6 7 8 9
- WY»A-»WCT 1263(a0AIa6YY»f 4212 633.7 633.7
- Tal&sY3t 1=363{a0AlasyY»h 4213 58.0 58.0
- T2AC 1363{a0AlasYY»h 4214 152.2 152.2
- U»AUCY - &fiT450460Y»f 4221 48.0 48.0
- TASE»YI=T3ICY YidsA»A ~ N=- 406w 4261 256.9 256.9
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LT 1353137 U3Y NALT3TY»AC SYT3YAUY»AA &
1 (2|34 5 6 7 8 9
AU _2@g°UA T12Eé°5s 1,577,980.7 1,468,184.7 109,796.0
2100|010 | 0 AU _p=20as6 ~UasUALE p20s20£0 386,238.6 373,442.6 12,796.0
T12&20asAlas0u°s

31 ATa0

2110|101 | 1 | O |dA»Yé1CA = -8AT31CA UBAUCYY»A, 374,617.3 366,821.3 7,796.0
A»T313Y I36373A40U, yCY3Ve313Y
hwpyuwpmpbuwnuyghl hwpwpbpnipniGGGp,
wnunwphl hwpwpbpnipiniGGGR
&RCo

211101 | 1 | 1 |Gfi»Y&1CA ™~ -afT=31Ci USAUCYY»ii, a»r3T3Y 374,617.3 366,821.3 7,796.0
136313400
31 ATa0
1. T3633A03Y U3A0YC 3NE3YaiU 374,617.3 366,821.3 7,796.0
- 2RE=3T1A0Y»AC SRESTST3A0»A 4111 275,236.0 275,236.0 -
N3 T»E3 Tx3AY»A
- &3-S URAUY»A, TABUSTIY EfSE4ea0Y» 4112 36,786.5 36,786.5 -
N=1aiT Tx3AY»f
- WY»A-»WCT 1263[a0AIa0YY»f 4212 13,008.0 13,008.0 -
- Tal&sY3t 1=363{a0AlasyY»h 4213 1,143.0 1,143.0 -
- T2AC 1363{a0AlasYY»h 4214 7,742.4 7,742.4 -
- 233Mar=-A3T3Y [2E6»h 4215 250.0 250.0 -
- 2iw=2e3(03Y(3Y - 4AT1ai040UY»AC - TaT TSEé»f 4222 1,500.0 1,500.0 -
- 1 3AEST3Y 13¢3[a0Ala0Y Y»h 4231 396.0 396.0 -
- DO TSTTST3Y 136340Ala0YY»h 4234 1,242.6 1,242.6 -
- U»AT=3[=6400a3T3Y 13Eé»i 4237 2,000.0 2,000.0 -
- Canhwlntp pOnyph w)p SwrwjnunLtGbtEn 4239 1,000.0 1,000.0 -
- @36Y=3-Cw3T3Y 13¢3[40AlasYY»h 4241 670.0 670.0 -
- DHU»YRY»AC 630 TafaiUY»A¢ AYA=46CT 4252 4,530.0 4,530.0 -
Yafia- 4ol ~ a=N&=Yail
- TASE»YI=T3ICY YidsA»A ~ N=- 456w 4261 3,442.6 3,442.6 -
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- T»Y6303(CY ~~ NSYASICY eYY1C YiadAxfi 4267 1,614.7 1,614.7 -
- A3A31CA Tx3AY»h 4823 200.0 200.0 -
- 2[f I=Eé»h 4861 1,000.0 1,000.0 -
- T3EST3Y é3nu=T1anaUY»h 5122 7,796.0 - 7,796.0
2130|01| 3 | O |LanhwGmp plGnyph SwruynipinlGaEGn 3,521.3 3,521.3 -
anco’
2131101 | 3 | 1 |Upluwwinwywqah /Yunntph/ gony pnhwnip panyeh 3,521.3 3,521.3 -
13¢63(40Ala0Y Y
3 ATas0
1. 303036C313Y 13640A13Y STU»AC 3,521.3 3,521.3 -
-ASYOU3Y 36340413 - 4AI40Y»a0AI3Y
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EC3YBAAAGAIAGY Y1)
- 2RE=3T1A0Y»AC SRESTST3A0»A 4111 2,378.1 2,378.1 -
N2 T»E2 Tx3AY»f
- WY»A-»WCT 1263[a0AIa0YY»f 4212 222.1 222.1 -
- T2AC 1363{a0AlasYY»h 4214 108.0 108.0 -
- &0I0C T 63AUBTARAIUY»AC TSR0ST3ta0Ala0Y 4216 804.0 804.0 -
- A3A31CA Tx3AY»h 4823 9.1 9.1 -
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T36340AIa6YY»AC - IAT N» T3%41313Y
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anco
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SRE3T3Y0Y»i
3 ATasu
1. USBE3-[3cY SRE3T13Y0Y»i 5,000.0 - 5,000.0
- USE=- 1213 r3T3Y [SEex»i 5134 5,000.0 - 5,000.0
2160|01| 6 | O |L4anhwGnip pGniyph hwlpughG X 3,100.0 3,100.0 -
T36340AIa6Y Y»ii (3IF 136»ACY 4831 1T3Ya0)
anco
2161|01| 6 | 1 |COnhwOntp pUnyph hwapwihb SwrewjniNLGbtn (wy| 3,100.0 3,100.0 -
138»ACY 383 13Y40)
3 AT460"
1. _ cUEsUY»A, N3g31¢0U400Y»A, 13 1T3A3YC 2,700.0 2,700.0 -
4A4BRAUY»AC ~~ TxCEY»AC I»U I»A3uYYCE =
YApwpbl pnnnplbp GEpYyuywglbihu
E3NUBY I3 ix30400Y»0
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2250(02 | 5 | 0 |&3BU&3YadAlasY (3IF 136»ACY 4831 T3Y40) 1,500.0 1,500.0
&RCo

2251|102 | 5 | 1 |43k waA3VaoAlasY (3 1=26»ACY 4831 1T=3Y40) 1,500.0 1,500.0
31 ATa0
1. %aA3134C 13BU3I»A803YY 3c31640A46Y 1,500.0 1,500.0
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 1,500.0 1,500.0

2400|040 | 0 TUTeE2T20 p252" 25a0A0a000°8 40,584.7 40,584.7
31 ATa0

2450|104 | 5 | 0 | TASYéA4AT 28,500.0 28,500.0
&RCo

2451|104 | 5 | 1 |O=Y=243AN3(CY wAi=Yean T 28,500.0 28,500.0
31 ATa0
1. Uupuwywn-plivinlyw Swélh Ybpwlnpngnid 28,500.0 28,500.0
- &3NE3YaiU
- P»YU»AC ~ T=é40l6Y»AC AYAS6CT Yana- ai0 4251 28,500.0 28,500.0
a=N&=vail

2490|04 | 9 | 0 | SGwnbGuwlwl hwpwpbpnipinl GGG (wyy 12,084.7 12,084.7
136»fCY 4431 T=Y40)
&RCo

2491|104 | 9 | 1 |SGnbuwywb hwpwptpnepntGbtn (wy nwubnhl 12,084.7 12,084.7
4A3T1=2Y40)
31 ATa0
9. 83AT31CA ix3AY»AC - 3YOU3Y 12,084.7 12,084.7
I363J46A146YY»hA
- UTCA=T TasAlasyY»i 3l s=fasld al>r=av1ad 4819 12,084.7 12,084.7
T3UUST»AA4&0AIAYY»ACY

2500/05| 0 | O pdx2T2 GE=21206k 42pTa20acAlasu 374,347.8 374,347.8
31 ATa0

2510|105 | 1 | O |Unpwhwbnid 282,347.8 282,347.8
&RCo
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2511 05| 1 | 1 |Unpwhw(nti 282,347.8 282,347.8 -
3 A1a0"
1. Unpwhwlnpinib L uwGhnwpwlwi 282,347.8 282,347.8 -
U=30A46U0
- Tal&sY3t 1=363{a0AlasyY»h 4213 282,347.8 282,347.8 -

2560|05 | 6 | 0 | PAC3T= UCc3T3IAC &33BT E&3Ya0Al4sY (3 92,000.0 92,000.0 -
13»ACY 44371 T3Y40)
El(00)

2561| 05| 6 | 1 |PA¢3T3 UC3T3IAC A3RTASYAAIAY (S 136»ACY 92,000.0 92,000.0 -
A3TT=3Y40)
3 Ara0
1. T3Y34 T3AZ10Y»AC NCUYEGU = 92,000.0 92,000.0 -
83N&3v4a0U
- Talaoyt 1=3¢3(asAlasyV» 4213 92,000.0 92,000.0 -

2600{06|0 | O 02125820200 p£EU2528a0A0a0U ©F 137,550.0 40,550.0 97,000.0

TagasU=2t 12e20a0A0a000°8

3 A1a0"

261006 | 1 | O | “YSISAIY3CY BCY3A3AA0AIAY 2,000.0 2,000.0 -
£l

2611|106 | 1 | 1 |7 YST3A3Y3ICY RCYSA=haoAlasy 2,000.0 2,000.0 -
3 A1a0"
1. £YQY313U 13640I6Y»AC 03V 1460 2,000.0 2,000.0 -
- 2 I3Eé»h 4861 2,000.0 2,000.0 -

2660|06 | 6 | O | “YIISAIYIICY BCYIA3[46AI3Y ~ 140467 3F 135,550.0 38,550.0 97,000.0
T36340AIa6YY»i (3l 13é»ACY 4831T3Y40)
£l

2661|06 | 6 | 1 |~ YST3ASY3(CY RCYSASAAAISY * TaUAYSE 135,550.0 38,550.0 97,000.0
1=2¢3a0AlasYY»A (3l 13eé»ACY 3831 1T3Y40)
3 A1a0"
1. Pwquiwplwuwpw 264GpGph hwnpe 5,500.0 5,500.0 -
T3YCUY»AC I»A3YahAa- 46U
-D3WAT YA 213(CY =3 VidsA»h 4269 5,500.0 5,500.0 -
2. Pwquduwplwluwpuwl 26GpGph plip 7,050.0 7,050.0 -
T3YCUY»AC I»A3YahAa- 46U
-D3WAT YA 213(CY =3/ VidsA»h 4269 7,050.0 7,050.0 -
3. “3I3icY TBA3IuY»Ac 102,000.0 5,000.0 97,000.0

E3030A=543A=31Y»iA¢ NeUY=Ydra - 40U 40
A3N&3yYa0U
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- 2 U»U»Y3Y»A " 83A0S TaRaUY»f 5129 15,000.0 - 15,000.0
4. Puqldwplwluwpwl 26Gp6nph pupbiuwpqdwl 21,000.0 21,000.0 -
3F 3RE3T3Y0Y»hA
- UntpuhnhwOtp ng wbunwywa (ng hwduwyGpwihl) ng 4521 21,000.0 21,000.0 -
YCY3YE3T3Y T340 T»AA40AIA0Y Y»ACY

2800/08| 0 | O p=20v£eT, Zp2TaolA @i Taau 49,127.5 49,127.5 -
31 ATa0

281008 | 1 | O |A3Y-&WC ~ 84ATC I36340AI46YY»HA 3,635.0 3,635.0 -
&RCo

2811|108 | 1 | 1 |[D3Y-&WC ARG 1=63(40Al46YY»h 3,635.0 3,635.0 -
31 ATa0
1. 68aAT3ICY UCcda63640UY»AC 3,635.0 3,635.0 -
13503 1»i&a0U0
- 2[f AYA=6CT 1A=U=3/YAANY»f 4639 3,635.0 3,635.0 -

2820|08 | 2 | O | @B3T46A3ICY [36346AI46YY»A 45,4925 45,4925 -
&RCo

2821|108 2 | 1 |IAZ13A3YY»A 16,905.7 16,905.7 -
31 ATa0
1. YA3I3A3Y3ICY [363JA0AIa6Y Y 16,905.7 16,905.7 -
- Untpuhnhwtn ng howluwywlb wyhnwywo 4511 16,905.7 16,905.7 -
(N=3U3{YU=ICY) T3%UST»AAA0AIAY Y »ACY

282308 | 2 | 3 |Uwynyph wnbbp, wyniipltp, Yshuinpnbbsn 11,929.8 11,929.8 -
31 ATa0
1. D303y UBZTAMAC = 3331 A3U3Y6C 11,929.8 11,929.8 -
13503 1»i&a0U0
- Untpuhnhwtn ng howluwywlb wyhnwywo 4511 11,929.8 11,929.8 -
(N=3U3YU=ICY) T3%UST»AAA0AIAY Y »ACY

2824108 | 2 | 4 |2l URSTAAZICY T3%UST»AA40AIAYY»A 16,657.0 16,657.0 -
31 ATa0
1. PB3T40A3ICY UCcad3640UY»AC 16,657.0 16,657.0 -
CAST3Y36400
- 2[f AYA=6CT 1A3U3RYAANY»A 4639 16,657.0 16,657.0 -

2900/09| 0 | O ToAabAlaU 542,939.4 542,939.4 -

=t ATai0
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1 (2|34 5 6 7 8

2910|109 | 1 | 0 |USE313A46313Y ~ T3AA3TI3Y AYIN3Y4&i1 401,904.0 401,904.0
TAA&6Al46Y
Eli[el)

291109 | 1 | 1 |U3E313/463T3Y TrA&sAl4sY 401,904.0 401,904.0
3 ATas0
1. USE318046313Y 466406460 401,904.0 401,904.0
-NUn}pqhnth({br]_nz jgh(_JEuUqu}yU gquu.gl.{uj[x 4511 401,904.0 401,904.0
(R=0=IY0=UCY) T3%UST»AA&0AIA6Y Y»ACY

295009 | 5 | 0 |Aé7 UBI3A13TY»AC 41363130 140 138,035.4 138,035.4
TAA46Al46Y
Eli[el)

2951|109 | 5 | 1 [2AW31AA463T3Y 136 WC3A3TasAlasY 138,035.4 138,035.4
3 ATas0
1. 2AT318A46313Y 136 7 C3A3140Al46Y 138,035.4 138,035.4
-NUn}pqhnth({br]_nz jgh(_JEuUqu}yU gquu.gl.{uj[x 4511 138,035.4 138,035.4
(R=0=IY0=UCY) T3%UST»AA40AIA6YY»ACY

2960|09 | 6 | 0 | TAA40AIZYA TA3U314740 0A3Y13T 3,000.0 3,000.0
[ 263/40A40YY»A
Eli[el)

2961|109 | 6 | 1 |TAA&AISYA TA=U=17740 0A3Y13T 1363(40Al40YY»f 3,000.0 3,000.0
3 ATas0
1. UBE315746313Y N36 131 40AI40Y V»AC 3,000.0 3,000.0
NCUY3Yaf4 - 460 "~ i»A3YAana - 460
- P»YU»AC ~ T=é40l6Y»AC AYAS6CT Yana- ai0 4251 3,000.0 3,000.0
a3fasval

3000(10| 0 | O 8a0£2E2T20 a2pT1a=20a0Ala00 45,692.7 45,692.7
3 ATasu

3070(10| 7 | O | 846C3E313Y N3 a6T SATAYAAIA6YY»A (SIE 28,963.0 28,963.0
13»ACY 48371 T3Y40)
Eli[el)

3071[10| 7 | 1 |@46C3E3T3Y N3 wail 3iwayasAlasyy»h (3 28,963.0 28,963.0
13¢»ACY 383 T3Y40)
3 ATas0
1. B46C3F38»6 3Y3E3NAT AYT3YCUY»AC 675.0 675.0
»A»E3Y»AC N3Y - 6 1C I33U31»A&4oU0
- Canhwlntp pGnyph w)p SwrwjnunLtGbEn 4239 675.0 675.0
2. D3A3Y37 446Y»640 3Y03Y6 1,500.0 1,500.0
B40C3F38»8 3Y383NAT AYT3YCuY»AC
N3U3f Na603AT3T4AA6AIZY 13303 T»A846U
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=t ATai0

= 3| oy ﬁ

Ez 4|3 2 pwdhGOtnh, fudptinh L nwutiph, hoswtu Gwb 3 = AVIS(sYA

25| 2 3 G Swhuutnh nGunk Yo E! 7 (nuyh

wm = 2| E2 pinLetinwih( dwiuubiph tlinuwghunwywt c= Junswyw pnigl | dnlnwghl pynegt

LT 1363T3R-U3Y NALTSIV»AC 3YT3VaiUV»A £
1 |23 |4 5 6 7 8
- Canhwntp pGnyph wyp SwewjnunLGbEn 4239 1,500.0 1,500.0
3. B40C33E»6 BYIEINAT AYT3YCUY»ACY 12,060.0 12,060.0
TAYSI3Y " NCBZW=1C AA»ACY Sc=1640Ala6Y
-D3TA YAST3T3(CY 3 ViasA»h 4269 2,680.0 2,680.0
- 2[f AYA=6CT 1A=3U3RYAANY»A 4639 7,100.0 7,100.0
- UTCA=T TasAlasyY»i 3l s=fasl al>r=av1ad 4819 2,280.0 2,280.0
T3UUST»AA4&0AIA0YY»ACY
4. 46C3E38»6 3YSE3Nai 3Y03Y6 8,328.0 8,328.0
c316404046Y

- Canhwlnip pGnyph w)p SwrwjnunLtGbEn 4239 960.0 960.0
- UTCA=T Ta0AlaoYY»i 3l s=Naold al»r=&y140 4819 7,368.0 7,368.0
T3UUST»AA40AIA0YY»ACY
5. DIEIABI3I3Y ISBU3I»>AB406AI46Y Y»ACY 6,400.0 6,400.0
Sc31640Ala6Y
- UTCA=w Ta0Ala0Y Y»i =i R=Radl al»w=&v140 4819 6,400.0 6,400.0
T3UUST»AA40AIA0YY»ACY

309010 | 9 | O |846C3H3T13Y &30 A&3Y40Al46Y (3IF 16,729.7 16,729.7
1360y 4831 T=Y40)
Elle)

3091|10| 9 | 1 |€A6C3EZT3Y &SR W ASYaiAlasY (S 1=3e»ACY 16,729.7 16,729.7
A3TT=3Y40)
3 A1a0"
1. 46C3F313Y (- Ya0AIZY [3E3g0AIA6Y Y»AC 16,729.7 16,729.7

- A 140Y»a6AI3Y 1330318400

(B3TICA3IT31 FC3Y%ARA0AIZ6Y Y»h)
- 2RE=3T1A0Y»AC SRESTST3A0»A 4111 15,842.7 15,842.7
N3 T»E3 Tx3AY»A
- WY»A-»WCT 1263[a0AIa6YY»f 4212 195.1 195.1
- T2AC 1363{a0AlasYY»h 4214 311.3 311.3
- MA=E»YIST3ICY YiaoA»A —~ N=- 408w 4261 380.6 380.6
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